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�D>7D4<<4 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< D47D45>F4=4 6 E>>F65FEF6<< E: 
- $545D4?L=>7> 74>>=4 >F 29 45>45DO 2012 7. N 273-$� "�5 >5D47>64=<< 6 $>EE<=E>>= $5-

45D4F<<" (E <7<5=5=<O<< < 4>?>?=5=<O<<). 
- $545D4?L=>7> 74>>=4 >F 21 =>O5DO 2011 7. N 323-$� "�5 >E=>64E >ED4=O 74>D>6LO 7D46-

44= 6 $>EE<=E>>= $545D4F<<". 
- �>DO4>4 ?D>6545=<O 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< ?> >5D47>64F5?L=O< ?D>-

7D4<<4< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O, GF65D645==>7> ?D<>47>< �<=<EF5DEF64 ?D>-
E65M5=<O $>EE<=E>>= $545D4F<< >F 8 =>O5DO N 800 (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< 
$>EE<=E>>= D545D4F<< 7 45>45DO 2021 7., D57<EFD4F<>==O= N 66211), E <7<5=5=<O<<, 6=5E5==O<< 
?D<>47>< �<=<EF5DEF64 ?D>E65M5=<O $>EE<=E>>= $545D4F<< >F 5 <4O 2022 7. N 311 (74D57<EFD<-
D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= D545D4F<< 27 <4O 7., D57<EFD4F<>==O= N 68606), 45=-
EF6GNM57> 4> 1 E5=FO5DO 2028 7. 

- �>?>65=<O > ?D>6545=<< M>E?5D<<5=F4 ?> D47D45>F>5, 4?D>54F<< < 6=54D5=<N =>6>= 
>5D47>64F5?L=>= F5E=>?>7<< >>=EFDG<D>64=<O >5D47>64F5?L=OE ?D>7D4<< ED54=57> ?D>D5EE<>-
=4?L=>7> >5D47>64=<O 6 D4<>4E D545D4?L=>7> ?D>5>F4 "�D>D5EE<>=4?<F5F", GF65D645==>7> ?>EF4-
=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 16 <4DF4 2022 7. N 387, 45=EF6GNM57> 4> 1 
O=64DO 2026 7. 

- $545D4?L=O< 7>EG44DEF65==O< >5D47>64F5?L=O< EF4=44DF>< ED54=57> ?D>D5EE<>=4?L-
=>7> >5D47>64=<O ?> ?D>7D4<<5 ?>47>F>6>5 E?5F<4?<EF>6 ED54=57> 765=4 15.02.10 �5E4FD>=<>4 < 
<>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<), ?D<>47 �<=>5D47=4G>< >F 09 45>45DO 2016 7. 7 1550; 

- �>DO4>>< ?D>6545=<O 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< >5GG4NM<EEO F5E=<>G<4. 
&5?LN 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< O6?O5FEO GEF4=>6?5=<5 E>>F65FEF6<O GD>6=O < 

>4G5EF64 ?D>D5EE<>=4?L=>= ?>47>F>6>< 6O?GE>=<>4 ?> E?5F<4?L=>EF< 15.02.10 �5E4FD>=<>4 < 
<>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<) FD55>64=<O< D545D4?L=>7> 7>EG44DEF65==>7> >5D47>64-
F5?L=>7> EF4=44DF4 ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O.  

�>EG44DEF65==4O <F>7>64O 4FF5EF4F<O O6?O5FEO G4EFLN >F5=>< >4G5EF64 >E6>5=<O >E=>6=>= 
>5D47>64F5?L=>= ?D>7D4<<O (?D>7D4<<O ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 765=4 - ��%%�) ?> 
E?5F<4?L=>EF< �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<) < O6?O5FEO >5O74F5?L=>= 
?D>F54GD>= 4?O 6O?GE>=<>>6 >G=>= D>D<O >5GG5=<O, 7465DL4NM<E >E6>5=<5 >E=>6=>= >5D47>64-
F5?L=>= ?D>7D4<<O (44?55 - ���) ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O 6 F5E=<>G<5.  

� <F>7>6O< 4FF5EF4F<>==O< <E?OF4=<O<, 6E>4OM<< 6 E>EF46 7>EG44DEF65==>= <F>7>6>= 
4FF5EF4F<<, 4>?GE>4NFEO >5GG4NM<5EO, GE?5L=> 7465DL<6L<5 6 ?>?=>< >5N5<5 >E6>5=<5 >E=>6-
=>= >5D47>64F5?L=>= ?D>7D4<<O ?> E?5F<4?L=>EF< �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> 
>FD4E?O<).  

�5>5E>4<<O< GE?>6<5< 4>?GE>4 > ��� O6?O5FEO ?D54EF46?5=<5 4>>G<5=F>6, ?>4F65D644-
NM<E >E6>5=<5 6O?GE>=<>4<< >5M<E < ?D>D5EE<>=4?L=OE >><?5F5=F<= ?D< <7GG5=<< F5>D5F<G5-
E>>7> <4F5D<4?4 < ?D>E>645=<< ?D4>F<>< ?> >464><G <7 >E=>6=OE 6<4>6 ?D>D5EE<>=4?L=>= 45O-
F5?L=>EF<.  
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1 ��%��$& �$��$���/ ��%'��$%&������ �&������ 
�&&�%&�&�� 

 
1.1 �5?4EFL ?D<<5=5=<O ?D>7D4<<O ��� 
 
�D>7D4<<4 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< (44?55 ?D>7D4<<4 ���) 3 O6?O5FEO G4-

EFLN >E=>6=>= >5D47>64F5?L=>= ?D>7D4<<O 6 E>>F65FEF6<< E $��% ?> E?5F<4?L=>EF< �5E4FD>-
=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<) 6 G4EF< >E6>5=<O 6<4>6 ?D>D5EE<>=4?L=>= 45O-
F5?L=>EF<:  

1. �>=F46, ?D>7D4<<<D>64=<5 < ?GE>>-=4?44>4 <5E4FD>==OE E<EF5<.  
2. &5E=<G5E>>5 >5E?G6<64=<5, D5<>=F < <E?OF4=<5 <5E4FD>==OE E<EF5<. 
3. $47D45>F>4, <>45?<D>64=<5 < >?F<<<74F<O D45>FO <5E4FD>==OE E<EF5<. 
4. �O?>?=5=<5 D45>F ?> >4=>= <?< =5E>>?L><< ?D>D5EE<O< D45>G<E, 4>?6=>EFO< 

E?G64M<E. 
�O?GE>=<>, >E6><6L<= ��%%�, 4>?65= >5?444FL ?D>D5EE<>=4?L=O<< >><?5F5=F<O<<, 

E>>F65FEF6GNM<<< 6<44< 45OF5?L=>EF<.  
1. �>=F46, ?D>7D4<<<D>64=<5 < ?GE>>-=4?44>4 <5E4FD>==OE E<EF5<.  
�� 1.1. �O?>?=OFL <>=F46 >><?>=5=F>6 < <>4G?5= <5E4FD>==OE E<EF5< 6 E>>F65FEF6<< E 

F5E=<G5E>>= 4>>G<5=F4F<5=.  
�� 1.2. �EGM5EF6?OFL =4EFD>=>G < >>=D<7GD<D>64=<5 ?D>7D4<<<DG5<OE ?>7<G5E><E >>=-

FD>??5D>6 6 E>>F65FEF6<< E ?D<=F<?<4?L=O<< EE5<4<< ?>4>?NG5=<O. 
�� 1.3. $47D454FO64FL G?D46?ONM<5 ?D>7D4<<O <5E4FD>==OE E<EF5< 6 E>>F65FEF6<< E 
F5E=<G5E><< 7444=<5<. 
�� 1.4. �O?>?=OFL D45>FO ?> =4?44>5 >><?>=5=F>6 < <>4G?5= <5E4FD>==OE E<EF5< 6 
E>>F65FEF6<< E F5E=<G5E>>= 4>>G<5=F4F<5=. 
2. &5E=<G5E>>5 >5E?G6<64=<5, D5<>=F < <E?OF4=<5 <5E4FD>==OE E<EF5<. 
�� 2.1. �EGM5EF6?OFL F5E=<G5E>>5 >5E?G6<64=<5 >><?>=5=F>6 < <>4G?5= <5E4FD>==OE 

E<EF5< 6 E>>F65FEF6<< E F5E=<G5E>>= 4>>G<5=F4F<5=.  
�� 2.2. �<47=>EF<D>64FL =5<E?D46=>EF< <5E4FD>==OE E<EF5< E <E?>?L7>64=<5< 

4?7>D<F<>6 ?><E>4 < GEFD4=5=<O =5<E?D46=>EF5=. 
�� 2.3. �D><76>4<FL 74<5=G < D5<>=F >><?>=5=F>6 < <>4G?5= <5E4FD>==OE E<EF5< 6 E>>F-

65FEF6<< E F5E=<G5E>>= 4>>G<5=F4F<5=. 
3. $47D45>F>4, <>45?<D>64=<5 < >?F<<<74F<O D45>FO <5E4FD>==OE E<EF5<. 
�� 3.1. %>EF46?OFL EE5<O ?D>EFOE <5E4FD>==OE E<EF5< 6 E>>F65FEF6<< E F5E=<G5E><< 

7444=<5<. 
�� 3.2. �>45?<D>64FL D45>FG ?D>EFOE <5E4FD>==OE E<EF5<. 
�� 3.3. �?F<<<7<D>64FL D45>FG >><?>=5=F>6 < <>4G?5= <5E4FD>==OE E<EF5< 6 
E>>F65FEF6<< E F5E=<G5E>>= 4>>G<5=F4F<5=  
 
1.2.  �>?<G5EF6> G4E>6, >F6>4<<>5 =4 7>EG44DEF65==GN <F>7>6GN 4FF5EF4F<N 
 
�>EG44DEF65==4O <F>7>64O 4FF5EF4F<O 6>?NG45F ?>47>F>6>G < 74M<FG 4<??><=>7> ?D>5>F4 

(D45>FO): 
6E57> - 6 =545?L, 6 F>< G<E?5:   
- ?>47>F>6>4 4<??><=>7> ?D>5>F4 (D45>FO) (6 F>< G<E?5, 45<>=EFD4F<>==O= M>74<5=) - 4 

=545?<,  
- 74M<F4 4<??><=>7> ?D>5>F4 (D45>FO) - 2 =545?<.  
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2 %&$'�&'$� � %���$����� ��%'��$%&������ �&������ �&&�%&�&�� 
 

$>D<>= 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< ?> >5D47>64F5?L=>= ?D>7D4<<5 ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O ?> E?5F<4?L=>EF< �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> 
>FD4E?O<) 6 E>>F65FEF6<< E D545D4?L=O< 7>EG44DEF65==O< >5D47>64F5?L=O< EF4=44DF>< ED54-
=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O O6?O5FEO 45<>=EFD4F<>==O= M>74<5= < 74M<F4 4<??><=>7> 
?D>5>F4 (D45>FO). 
 

2.1 %>45D64=<5 4<??><=>7> ?D>5>F4 
 
�<??><=O= ?D>5>F (D45>F4) =4?D46?5= =4 E<EF5<4F<74F<N < 74>D5??5=<5 7=4=<= 6O?GE>-

=<>4 ?> E?5F<4?L=>EF<, 4 F4>65 >?D545?5=<5 GD>6=O 7>F>6=>EF< 6O?GE>=<>4 > E4<>EF>OF5?L=>= 
?D>D5EE<>=4?L=>= 45OF5?L=>EF<. �<??><=O= ?D>5>F (D45>F4) ?D54?>?4745F E4<>EF>OF5?L=GN ?>4-
7>F>6>G (=4?<E4=<5) 6O?GE>=<>>< ?D>5>F4 (D45>FO), 45<>=EFD<DGNM57> GD>65=L 7=4=<= 6O?GE>-
=<>4 6 D4<>4E 6O5D4==>= F5<O, 4 F4>65 ED>D<<D>64==>EFL 57> ?D>D5EE<>=4?L=OE G<5=<= < =46O-
>>6. 

&5<4F<>4 4<??><=OE ?D>5>F>6 (D45>F) >?D545?O5FEO F5E=<>G<><. �O?GE>=<>G ?D54>EF46-
?O5FEO ?D46> 6O5>D4 F5<O 4<??><=>7> ?D>5>F4 (D45>FO), 6 F>< G<E?5 ?D54?>65=<O E6>5= F5<O E 
=5>5E>4<<O< >5>E=>64=<5< F5?5E>>5D47=>EF< 55 D47D45>F>< 4?O ?D4>F<G5E>>7> ?D<<5=5=<O. 
&5<4 4<??><=>7> ?D>5>F4 (D45>FO) 4>?6=4 E>>F65FEF6>64FL E>45D64=<N >4=>7> <?< =5E>>?L><E 
?D>D5EE<>=4?L=OE <>4G?5=, 6E>4OM<E 6 >5D47>64F5?L=GN ?D>7D4<<G ED54=57> ?D>D5EE<>=4?L-
=>7> >5D47>64=<O. 

�?O ?>47>F>6>< 4<??><=>7> ?D>5>F4 (D45>FO) 6O?GE>=<>G =47=4G45FEO DG>>6>4<F5?L < ?D< 
=5>5E>4<<>EF< >>=EG?LF4=FO, >>47O64NM<5 6O?GE>=<>G <5F>4<G5E>GN ?>445D6>G. 

�4>D5??5=<5 74 6O?GE>=<>4<< F5< 4<??><=OE ?D>5>F>6 (D45>F), =47=4G5=<5 DG>>6>4<F5?5= 
< >>=EG?LF4=F>6 >EGM5EF6?O5FEO ?D<>47>< 4<D5>F>D4 F5E=<>G<4. 

�D<<5D=O= >5N5< ?>OE=<F5?L=>= 74?<E>< 6 >><?LNF5D=>< 64D<4=F5 40 - 60 EFD4=<F. 
�D><5 >?<E4F5?L=>= G4EF<, ?D54EF46?O5FEO < 7D4D<G5E>4O G4EFL 6 >5N5<5 3-5 ?<EF>6.  

&5<O 4<??><O ?D>5>F>6 (D45>F) 4>?6=O <<5FL ?D4>F<>>->D<5=F<D>64==O= E4D4>F5D. �5-
D5G5=L F5< 4<??><=OE ?D>5>F>6 (D45>F) D47D45>F4= ?D5?>4464F5?O<< ���, D4EE<>FD5= =4 74E544-
=<< �5F>4<G5E>>7> >5N54<=5=<O F5E=<>G<4. &D55>64=<O > 6O?GE>=O< >64?<D<>4F<>==O< D45>-
F4<, 4 F4>65 >D<F5D<< >F5=>< 7=4=<= D4EE<>FD5=O =4 �5F>4<G5E>>< E>65F5 ?>E?5 ?D5464D<F5?L-
=>7> ?>?>6<F5?L=>7> 74>?NG5=<O D45>F>44F5?5= < GF65D645=O �D<>47>< 4<D5>F>D4 F5E=<>G<4, 
?>E?5 <E >5EG645=<O =4 74E544=<< ?5447>7<G5E>>7> E>65F4 F5E=<>G<4 E GG4EF<5< ?D54E544F5?O 
7>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<<.  

�D<<5D=O= ?5D5G5=L F5< 4<??><=OE ?D>5>F>6 (D45>F) ?D54EF46?5= 6 F45?<F5. 
7 &5<4 4<??><=>7> ?D>5>F4 �4<<5=>64=<5 ��, 

>FD4645<OE 6 D45>F5 
1 �=54D5=<5 D>5>F>F5E=<G5E>>7> >><??5>E4 6 F5E=>?>7<G5-

E><= ?D>F5EE >>=F4>F=>= E64D>< 
��.01 �>=F46, ?D>-
7D4<<<D>64=<5 < ?GE>>-
=4?44>4 <5E4FD>==OE E<-
EF5<  
��.02 &5E=<G5E>>5 >5-
E?G6<64=<5, D5<>=F < 
<E?OF4=<5 <5E4FD>==OE 
E<EF5<  
��.03 $47D45>F>4, <>45-
?<D>64=<5 < >?F<<<74-
F<O D45>FO <5E4FD>==OE 
E<EF5<  

2 �>45D=<74F<O F5E=>?>7<G5E>>7> >5>DG4>64=<O ?D>F5EE4 
?D5EE>64=<O 

3 �>45D=<74F<O F5E=>?>7<G5E>>7> >5>DG4>64=<O ?D>F5EE4 
?475D=>= D57>< 

4 �=54D5=<5 D>5>F>F5E=<G5E>>7> >><??5>E4 6 F5E=>?>7<G5-
E><= ?D>F5EE 4G7>6>= E64D>< 

5 �>45D=<74F<O F5E=>?>7<G5E>>7> >5>DG4>64=<O 
?D>F5EE4 EFD>74=<O 

6 $>5>F<74F<O F5E=>?>7<G5E>>7> ?D>F5EE4 
4D>55EFDG==>= >5D45>F>< 
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7 �>45D=<74F<O F5E=>?>7<G5E>>7> ?D>F5EE4 DD575D=>= >5-
D45>F>< 

 

8 $>5>F<74F<O F5E=>?>7<G5E>>7> ?D>F5EE E>?44<D>64=<O 
9 �>45D=<74F<O F5E=>?>7<G5E>>7> >5>DG4>64=<O ?D>F5EE4 

<5E4=>>5D45>F><  
 

%FDG>FGD4 4<??><=>7> ?D>5>F4 

�5GG4NM<5EO ?> E?5F<4?L=>EF< �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<) 
6O?>?=ONF 4<??><=O= ?D>5>F ?D4>F<G5E>>7> =4?D46?5=<O.  

�4>>=G5==O= 4<??><=O= ?D>5>F 6>?NG45F:  
4) ?>OE=<F5?L=GN 74?<E>G;  
5) 7D4D<G5E>GN G4EFL (G5DF56<, EE5<O, 7D4D<>< < F.4.);  
6) >><??5>F >4DF F5E=>?>7<G5E>>7> ?D>F5EE4; 
7) >F7O6 DG>>6>4<F5?O D45>FO (�$�������� �); 
4) D5F5=7<N E?5F<4?<EF4 E>>F65FEF6GNM57> ?D>D<?O <?< ?D5?>4464F5?O E<56=>= E?5F<-

4?L=>EF< (�$�������� �).  
�>OE=<F5?L=4O 74?<E>4 4>?6=4 6>?NG4FL E?54GNM<5 EFDG>FGD=O5 M?5<5=FO: 
� F<FG?L=O= ?<EF (�$�������� �); 
� 7444=<5 =4 ?D>5>F<D>64=<5 (�$�������� �); 
� D5D5D4F; 
� E>45D64=<5; 
� 66545=<5; 
� F5E=>?>7<G5E>GN G4EFL; 
� >>=EFDG>F>DE>GN G4EFL; 
� <EE?54>64F5?LE>GN G4EFL*; 
� D4EG5F=GN G4EFL*; 
� M>>=><<G5E>GN G4EFL*; 
� 557>?4E=>EFL 6<7=545OF5?L=>EF<; 
� >ED4=4 >>DG64NM5= ED54O; 
� 74>?NG5=<5; 
� <E?>?L7G5<O5 <EF>G=<>< <=D>D<4F<<; 
� E?5F<D<>4F<< G5DF565=, EE5<; 
� ?D<?>65=<O. 
$4745?O >F<5G5==O5 (*) 6 746<E<<>EF< >F F5<O 4<??><=>7> ?D>5>F4, <>7GF >FEGFEF6>64FL. 

�D<<5D >D>D<?5=<O ?<EF4 «%���$�����», E<. �$�������� �. 
%FDG>FGD4 < E>45D64=<5 4<??><=>7> ?D>5>F4 4>?6=O >FD464FL E?5F<D<>G E?5F<4?L=>EF< 

�5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<) < F5<O 4<??><=>7> ?D>5>F4. 
�D<<5D=O= E>EF46 G5DF565= 4<??><=OE ?D>5>F>6 (D45>F): 
3 ?D<=F<?<4?L=4O M?5>FD<G5E>4O EE5<4; 
3 EFDG>FGD=4O <?< DG=>F<>=4?L=4O EE5<4 %�'; 
3 ??4= GG4EF>4; 
3 ED54EF64 F5E=>?>7<G5E>>7> >E=4M5=<O (E?5F<4?L=>5 F5E=>?>7<G5E>>5 >5>DG4>64=<5, 

?D<E?>E>5?5=<O, ED54EF64 46F><4F<74F<< < <5E4FD>==O5 E<EF5<O). 
� >F45?L=OE E?GG4OE 4<??><=O5 ?D>5>FO <>7GF 6O?>?=OFLEO 7DG??>= EFG45=F>6. �D< MF>< 

<=4<6<4G4?L=O5 7444=<O 6O44NFEO >464><G EFG45=FG E> EFD>7> D57?4<5=F<D>64==O< ?5D5G=5< 
6>?D>E>6. �D< 74M<F5 4<??><=>7> ?D>5>F4 >464O= EFG45=F 4>?65= E45?4FL 4>>?44 < 74M<F<FL 
6O?>?=5==GN << D45>FG. $5L5=<5 �>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<< ?> D57G?LF4F4< 
74M<FO 4<??><=>7> ?D>5>F4 ?D<=<<45FEO <=4<6<4G4?L=> ?> >464><G EFG45=FG. 

&D55>64=<O > >D>D<?5=<N 4<??><=>7> ?D>5>F4 ?D54EF46?5=O 6 �$�������� �. 
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2.2 �5<>=EFD4F<>==O= M>74<5=  

�5<>=EFD4F<>==O= M>74<5= ?D54GE<4FD<645F <>45?<D>64=<5 D54?L=OE ?D><76>4EF65=-
=OE GE?>6<= 4?O D5L5=<O 6O?GE>=<>4<< ?D4>F<G5E><E 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
(66545==>= 6 45=EF6<5 E 1 O=64DO 2018 7>44 ?D<>47>< �<=>5D=4G>< $>EE<< >F 17 =>O5DO 2017 7>44 
N 1138). 

�444=<O 45<>=EFD4F<>==>7> M>74<5=4 D47D45>F4=O =4 >E=>65 ?D>D5EE<>=4?L=>7> EF4=-
44DF4 < E GG5F>< >F5=>G=OE <4F5D<4?>6, D47D45>F4==OE $���' ��� «�=EF<FGF D476<F<O ?D>-
D5EE<>=4?L=>7> >5D47>64=<O». 

�O5D4= >><??5>F >F5=>G=>= 4>>G<5=F4F<< ��� 1.2-2023-2025, >>F>DO= ?D54=47=4G5= 4?O 
>D74=<74F<< < ?D>6545=<O 4FF5EF4F<< >5GG4NM<EEO ?> ?D>7D4<<4< ED54=57> ?D>D5EE<>=4?L=>7> 
>5D47>64=<O 6 D>D<5 45<>=EFD4F<>==>7> M>74<5=4 ?D>D<?L=>7> GD>6=O ?> E?5F<4?L=>EF< �5-
E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<) < D4EEG<F4= =4 6O?>?=5=<5 7444=<= ?D>4>?-
6<F5?L=>EFLN 5 G4E>6.  

�><??5>F >F5=>G=>= 4>>G<5=F4F<< 6>?NG45F: 
1. �><??5>E FD55>64=<= 4?O ?D>6545=<O 45<>=EFD4F<>==>7> M>74<5=4.  
2. �5D5G5=L >5>DG4>64=<O < >E=4M5=<O, D4EE>4=OE <4F5D<4?>6, ED54EF6 >5GG5=<O < 6>E?<-

F4=<O.  
3. �?4= 74EFD>=>< ??>M44>< 45<>=EFD4F<>==>7> M>74<5=4.  
4. &D55>64=<O > E>EF46G M>E?5DF=OE 7DG??.  
5. �=EFDG>F<< ?> F5E=<>5 557>?4E=>EF<.  
6. �5D475F 7444=<O. 
&D55>64=<O > >F5=<64=<N  

�4>E<<4?L=> 6>7<>6=>5 >>?<G5EF6> 54??>6 100. 
 
�5D5G5=L 7=4=<= < G<5=<=, ?D>65DO5<OE 6> 6D5<O 45<>=EFD4F<>==>7> M>74<5=4 ?D54EF46-

?5= 6 F45?<F5. 
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$5>><5=4G5<4O EE5<4 ?5D56>44 D57G?LF4F>6 45<>=EFD4F<>==>7> M>74<5=4 <7 EF>54??L=>= 
L>4?O 6 ?OF<54??L=GN:  

�F5=>4 
(?OF<54??L=4O 

L>4?4) 

«2» «3» «4» «5» 

1 2 3 4 5 
�F5=>4 6 54??4E 

(EF>54??L=4O 
L>4?4) 

0,00 3 19,99  20,00 3 39,99  40,00 3 69,99  70,00 - 100,00  

�5<>=EFD4F<>==O= M>74<5= ?D>6>4<FEO 4?O ?D<E6>5=<O >64?<D<>4F<< F5E=<>-<5E4FD>=<> 
?> E?5F<4?L=>EF< 15.02.10 �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<). 
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3 '%����/ $������&�� �$��$���/ 
��%'��$%&������ �&������ �&&�%&�&�� 

 
 

� F5?OE >?D545?5=<O E>>F65FEF6<O D57G?LF4F>6 >E6>5=<O 6O?GE>=<>4<< <<5NM<E 7>EG44D-
EF65==GN 4>>D54<F4F<N >5D47>64F5?L=OE ?D>7D4<< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O E>-
>F65FEF6GNM<< FD55>64=<O< $��% %�� ��� ?D>6>4<FEO 7>EG44DEF65==O<< M>74<5=4F<>==O<< 
>><<EE<O<< (44?55 - �-�), E>744645<O<< F5E=<>G<>< ?> >464>= G>DG?=5==>= 7DG??5 ?D>D5EE<=, 
E?5F<4?L=>EF5= ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O ?<5> ?> GE<>FD5=<N >5D47>64F5?L=>= 
>D74=<74F<< ?> >F45?L=O< ?D>D5EE<O< < E?5F<4?L=>EFO< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64-
=<O. 

�-� D>D<<DG5FEO <7 G<E?4 ?5447>7<G5E><E D45>F=<>>6 F5E=<>G<4, ?<F, ?D<7?4L5==OE <7 
EF>D>==<E >D74=<74F<=, 6 F>< G<E?5: 

- ?5447>7<G5E><E D45>F=<>>6; 
- ?D54EF46<F5?5= >D74=<74F<=-?4DF=5D>6, =4?D46?5=<5 45OF5?L=>EF< >>F>DOE E>>F65FEF6G5F 

>5?4EF< ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, > >>F>D>= 7>F>6OFEO 6O?GE>=<><; 
- M>E?5DF>6 >D74=<74F<<, =445?5==>= ?>?=><>G<O<< ?> >55E?5G5=<N ?D>E>645=<O ��� 6 

D>D<5 45<>=EFD4F<>==>7> M>74<5=4 (44?55 - >?5D4F>D) (?D< ?D>6545=<< ��� 6 D>D<5 45<>=EFD4-
F<>==>7> M>74<5=4), >5?444NM<E ?D>D5EE<>=4?L=O<< 7=4=<O<<, =46O>4<< < >?OF>< 6 ED5D5, E>-
>F65FEF6GNM5= ?D>D5EE<<, E?5F<4?L=>EF< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O, ?> >>F>D>= 
?D>6>4<FEO 45<>=EFD4F<>==O= M>74<5= (44?55 - M>E?5DFO). 

�D< ?D>6545=<< 45<>=EFD4F<>==>7> M>74<5=4 6 E>EF465 �-� E>7445FEO M>E?5DF=4O 7DG??4 
<7 G<E?4 M>E?5DF>6 (44?55 - M>E?5DF=4O 7DG??4). ->E?5DF=GN 7DG??G 6>77?46?O5F 7?46=O= M>E?5DF, 
=47=4G45<O= <7 G<E?4 M>E?5DF>6, 6>?NG5==OE 6 E>EF46 �-�. 

�?46=O= M>E?5DF >D74=<7G5F < >>=FD>?<DG5F 45OF5?L=>EFL 6>77?46?O5<>= M>E?5DF=>= 
7DG??O, >55E?5G<645F E>5?N45=<5 6E5E FD55>64=<= > ?D>6545=<N 45<>=EFD4F<>==>7> M>74<5=4 < 
=5 GG4EF6G5F 6 >F5=<64=<< D57G?LF4F>6 ���. 

�E=>6=O<< DG=>F<O<< �-� O6?ONFEO:   
- >><??5>E=4O >F5=>4 GD>6=O >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O, >><?5F5=F<= 6O?GE>-

=<>4 < E>>F65FEF6<O D57G?LF4F>6 >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O FD55>64=<O< D545D4?L-
=>7> 7>EG44DEF65==>7> >5D47>64F5?L=>7> EF4=44DF4;   

- D5L5=<5 6>?D>E4 > ?D<E6>5=<< >64?<D<>4F<< ?> D57G?LF4F4< 7>EG44DEF65==>= <F>7>6>= 
4FF5EF4F<< < 6O44G5 E>>F65FEF6GNM57> 4<??><4 > ED54=5< ?D>D5EE<>=4?L=>< >5D47>64=<<;   

- D47D45>F>4 D5>><5=44F<= ?> E>65DL5=EF6>64=<N ?>47>F>6>< 6O?GE>=<>>6 ?> E?5F<4?L-
=>EF< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >F-
D4E?O<).  

�>EG44DEF65==GN M>74<5=4F<>==GN >><<EE<N 6>77?46?O5F ?D54E544F5?L, >>F>DO= >D74=<-
7G5F < >>=FD>?<DG5F 45OF5?L=>EFL 7>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<<, >55E?5G<645F 
54<=EF6> FD55>64=<=, ?D54NO6?O5<OE > 6O?GE>=<>4<.   

�D54E544F5?5< 7>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<< F5E=<>G<4 GF65D6445FEO 
?<F>, =5 D45>F4NM55 6 >5D47>64F5?L=>= >D74=<74F<<, <7 G<E?4: 

2 DG>>6>4<F5?5= <?< 74<5EF<F5?5= DG>>6>4<F5?5= >D74=<74F<=, >EGM5EF6?ONM<E >5-
D47>64F5?L=GN 45OF5?L=>EFL, E>>F65FEF6GNMGN >5?4EF< ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, > >>-
F>D>= 7>F>6OFEO 6O?GE>=<><; 

2 ?D54EF46<F5?5= D45>F>44F5?5= <?< <E >5N54<=5=<=, =4?D46?5=<5 45OF5?L=>EF< >>F>-
DOE E>>F65FEF6G5F >5?4EF< ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, > >>F>D>= 7>F>6OFEO 6O?GE>=<><. 

�<D5>F>D F5E=<>G<4 O6?O5FEO 74<5EF<F5?5< ?D54E544F5?O 7>EG44DEF65==>= M>74<5=4F<-
>==>= >><<EE<<. 

�?5??OF<>==4O >><<EE<O E>EF><F <7 ?D54E544F5?O, =5 <5=55 ?OF< G?5=>6 <7 G<E?4 ?5447>-
7<G5E><E D45>F=<>>6 >5D47>64F5?L=>= >D74=<74F<<, =5 6E>4OM<E 6 44==>< GG55=>< 7>4G 6 E>EF46 
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7>EG44DEF65==OE M>74<5=4F<>==OE >><<EE<= < E5>D5F4DO. �D54E544F5?5< 4?5??OF<>==>= >><<E-
E<< O6?O5FEO DG>>6>4<F5?L >5D47>64F5?L=>= >D74=<74F<< ?<5> ?<F>, <E?>?=ONM55 6 GEF4=>6?5=-
=>< ?>DO4>5 >5O74==>EF< DG>>6>4<F5?O >5D47>64F5?L=>= >D74=<74F<<. %5>D5F4DL <75<D45FEO <7 
G<E?4 G?5=>6 4?5??OF<>==>= >><<EE<<. %>EF46 4?5??OF<>==>= >><<EE<< GF65D6445FEO >5D47>64-
F5?L=>= >D74=<74F<5= >4=>6D5<5==> E GF65D645=<5< E>EF464 7>EG44DEF65==>= M>74<5=4F<>==>= 
>><<EE<<.  

�?5??OF<O D4EE<4FD<645FEO =4 74E544=<< 4?5??OF<>==>= >><<EE<< E GG4EF<5< =5 <5=55 
46GE FD5F5= 55 E>EF464 < ?D54E544F5?5< 7>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<<.  

$5L5=<5 4?5??OF<>==>= >><<EE<< 4>6>4<FEO 4> E6545=<O ?>446L57> 4?5??OF<N 6O?GE>-
=<>4 (?>4 D>E?<EL) 6 45=L 74E544=<O 4?5??OF<>==>= >><<EE<<.  

$5L5=<5 4?5??OF<>==>= >><<EE<< O6?O5FEO >>>=G4F5?L=O< < ?5D5E<>FDG =5 ?>4?56<F.  
$5L5=<5 4?5??OF<>==>= >><<EE<< >D>D<?O5FEO ?D>F>>>?><, >>F>DO= ?>4?<EO645FEO ?D54-

E544F5?5< < E5>D5F4D5< 4?5??OF<>==>= >><<EE<< < ED4=<FEO 6 4DE<65 >5D47>64F5?L=>= >D74=<74-
F<<.  

� ��� 4>?GE>45FEO EFG45=F, =5 <<5NM<= 4>445<<G5E>>= 744>?65==>EF< < 6 ?>?=>< >5N5<5 
6O?>?=<6L<= GG55=O= ??4= <?< <=4<6<4G4?L=O= GG55=O= ??4= ?> >E64<645<>= >5D47>64F5?L=>= 
?D>7D4<<5 ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O.   

�D>7D4<<4 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<<, FD55>64=<O > 6O?GE>=O< >64?<D<>4-
F<>==O< D45>F4<, 4 F4>65 >D<F5D<< >F5=>< 7=4=<=, GF65D645==O5 F5E=<>G<><, 4>6>4OFEO 4> 
E6545=<O EFG45=F>6, =5 ?>74=55, G5< 74 L5EFL <5EOF56 4> =4G4?4 7>EG44DEF65==>= <F>7>6>= 4FF5-
EF4F<<. 

�?O >4G5EF65==>7> ?D>6545=<O ?D>F54GDO ���, =5>5E>4<<O5 ?>47>F>6<FL 4>>G<5=FO, 
?D54EF46?5==O5 6 �$�������� �. 

�O?GE>=<>4<< =4 ?D>F54GDG ��� 4>?6=> 5OFL ?D54EF46?5=> �>DFD>?<> >5GG4NM57>EO, 
>>F>D>5 4>?6=> E>45D64FL >><??5>F 4>>G<5=F>6 (7D4<>FO, 4<??><O, E5DF<D<>4FO, >>?<< ?D<-
>47>6, D>F>4>>G<5=FO < F.4.), >F7O6>6 < ?D>4G>F>6 D47?<G=OE 6<4>6 45OF5?L=>EF<: >4> GG55=>= 
(4<47=>EF<G5E><5 D45>FO, >F5=>G=O5 ?<EFO, <EE?54>64F5?LE><5, ?D>5>F=O5 D45>FO, D5D5D4FO, 
D57G?LF4FO E4<>EF>OF5?L=>= D45>FO < F.4.), F4> < 6=5GD>G=>= (F6>DG5E><5 D45>FO, ?D575=F4F<<, 
D>F><4F5D<4?O), ?>76>?ONM<5 >5GG4NM5<GEO 6 4?LF5D=4F<6=>= D>D<5 ?D54NO6<FL >5D47>64-
F5?L=O5 < ?D>D5EE<>=4?L=O5 4>EF<65=<O, >?D545?<FL =4?D46?5=<O ?D>D5EE<>=4?L=> 4 ?<G-
=>EF=>7> E4<>D476<F<O. �>DFD>?<> <>65F E>45D64FL <4F5D<4? <7 6=5L=<E <EF>G=<>>6 (>F7O6O 
<?< 7D4<>FO, 6O?<E>< <7 ?D<>47>6 E ?D4>F<><, E 6>5==OE E5>D>6 < F.4.), 44NM<= 4>?>?=<F5?L-
=GN >F5=>G >E6>5=<O >5M<E < ?D>D5EE<>=4?L=OE >><?5F5=F<=. �>DFD>?<> 4>?>?=O5F >E=>6=O5 
>>=FD>?L=>->F5=>G=O5 ED54EF64, ?D<=OFO5 6 F5E=<>G<5, < ?>76>?O5F >F5=<64FL ED>D<<D>64=-
=>EFL >5M<E < ?D>D5EE<>=4?L=OE >><?5F5=F<=. 

'E?>6<O ?>47>F>6>< 6O?GE>=<>>6 > ��� 3 E4<>EF>OF5?L=4O ?>47>F>6>4, 7DG??>6O5 < <=-
4<6<4G4?L=O5 >>=EG?LF4F<< DG>>6>4<F5?5= < >>=EG?LF4=F>6 4<??><=OE ?D>5>F>6 (D45>F). 

�D4>F<G5E>>5 DG>>6>4EF6> E> EF>D>=O DG>>6>4<F5?O 6>?NG45F: 
2 D47D45>F>4 <=4<6<4G4?L=OE 7444=<= (�$�������� �); 
2 >>=EG?LF<D>64=<5 6 E>>F65FEF6<< E D4E?<E4=<5< EFG45=F>6 ?> 6>?D>E4< E>45D64=<O < 

?>E?54>64F5?L=>EF< 6O?>?=5=<O 6O?GE>=>= >64?<D<>4F<>==>= D45>FO; 
2 >>474=<5 ?><>M< EFG45=FG 6 ?>45>D5 =5>5E>4<<>= ?<F5D4FGDO; 
2 >>=FD>?L E>44 6O?>?=5=<O 6O?GE>=>= >64?<D<>4F<>==>= D45>FO; 
2 >>=FD>?<DG5F D<F<<G=>EFL D45>FO EFG45=F4 =44 ?D>5>F><, ?D>65DO5F ?D46<?L=>EFL < D4-

F<>=4?L=>EFL 57> D5L5=<=, D4EG5F>6, ?D46<?L=>EFL >D>D<?5=<O <4F5D<4?>6 ?D>5>F4 6 E>>F65F-
EF6<< E FD55>64=<O<< EF4=44DF>6, E?54<F 74 ?>?=>F>= <E?>?L7>64=<O EFG45=F>< F5>D5F<G5E><E 
7=4=<=, ?>?GG5==OE ?D< >5GG5=<<; 

2 =4?D46?O5F 45OF5?L=>EFL EFG45=F4 =4 4>EF<65=<5 D4F<>=4?L=OE, >?F<<4?L=OE D57G?L-
F4F>6 6 D5L5=<< 7?46=OE 7444G < 6>?D>E>6 F5E=>?>7<<, ?D>5>F<D>64=<O; 

2 EF<<G?<DG5F E4<>EF>OF5?L=>EFL 6 D45>F5 EFG45=F4, E?54<F 74 ?D46<?L=>EFLN >D74=<74-
F<< < <5F>4<>< 57> D45>FO; 
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2 <=D>D<<DG5F DG>>6>4<F5?O <5F>4<G5E>>7> >5N54<=5=<O < 44<<=<EFD4F<N > EF5?5=< 7>-
F>6=>EF< 4<??><=>7> ?D>5>F4. 

�> >>>=G4=<< ?D>5>F<D>64=<O DG>>6>4<F5?L 4<??><=>7> ?D>5>F4 (D45>FO): 
2 ?>4?<EO645F <4F5D<4?O ?D>5>F4 (?>OE=<F5?L=GN 74?<E>G, 7D4D<G5E>GN G4EFL, >><??5>F 

F5E=>?>7<G5E>>= 4>>G<5=F4F<<); 
2 ?D54EF46?O5F >F7O6 > D45>F5 EFG45=F4 =44 4<??><=O< ?D>5>F>< =4 5?4=>5 GEF4=>6?5=-

=>7> >5D47F4 (�$�������� �).  
� >F7O65 >F5=<645FEO: 
2 EF5?5=L E>>F65FEF6<O 6O?>?=5==>7> ?D>5>F4 7444=<N;  
2 >4G5EF6> D47D45>F>>;  
2 EF5?5=L E4<>EF>OF5?L=>EF< D45>FO 4<??><=<>4 < 57> ?>47>F>6?5==>EFL;  
2 6OE>47O645FEO <=5=<5 > 6>7<>6=>EF< ?D<E6>5=<O EFG45=FG >64?<D<>4F<< ?> E?5F<4?L-

=>EF< �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<)- F5E=<>-<5E4FD>=<>.  
�F7O6 4>?65= E>45D64FL >F5=>G 74 4<??><=O= ?D>5>F ?> 4-E 54?L=>= L>4?5: «>F?<G=>», 

«E>D>L>», «G4>6?5F6>D<F5?L=>» <?< «=5G4>6?5F6>D<F5?L=>» 6 E>>F65FEF6<< E >D<F5D<O<< >F5=>< 
6O?>?=5=<O < 74M<FO 4<??><=>7> ?D>5>F4 EFG45=F>6 (�$�������� �). 

�D><5 >E=>6=>7> DG>>6>4<F5?O 4<??><=>7> ?D>5>F4 =47=4G4NFEO >>=EG?LF4=FO ?> >F45?L-
=O< G4EFO< (=>D<>>>=FD>?L, M>>=><<G5E>4O G4EFL, 7D4D<G5E>4O G4EFL).  

�D4>F<G5E>>5 GG4EF<5 E> EF>D>=O >>=EG?LF4=F4 6>?NG45F: 
- D57G?OD=O5 >>=EG?LF4F<< E F5?LN ?D>65D>< >4G5EF64 < 7?G5<=O D4E>DOF<O E>45D64=<O 

E>>F65FEF6GNM<E D4745?>6 4<??><=>7> ?D>5>F4; 
- >>=EG?LF4F<< EFG45=F4 ?> <75D4==>= F5<5, ?><>ML 6 >E<OE?5=<< 5U E>45D64=<O < 6OD4-

5>F>5 ??4=4 D45>FO, >5NU<4 <E?>?L7G5<>7> <4F5D<4?4; 
- ?D>65D>4 ?D54EF46?5==>7> <4F5D<4?4 ?> >>>=G4=<< D45>FO =44 4<??><=O< ?D>5>F><. 
� F5G5=<5 ?5D6>= =545?< D45>FO =44 4<??><=O< ?D>5>F>< EFG45=F E>6<5EF=> E DG>>6>4<-

F5?5< E>EF46?O5F 7D4D<> 57> 6O?>?=5=<O E G>474=<5< ED>>>6 >>>=G4=<O >F45?L=OE MF4?>6 D45>FO.  
�<??><=O5 ?D>5>FO 6O?>?=ONFEO EFG45=F4<< E <E?>?L7>64=<5< D57G?LF4F>6 ?D544<??><-

=>= ?D4>F<><. 
� GEF4=>6?5==O5 (E>7?4E=> 7D4D<>G) ED>>< EFG45=F >5O74= >FG<FO64FLEO ?5D54 DG>>6>4<-

F5?5< > E>45D64=<< < >5N5<5 6O?>?=5==>= D45>FO.  
�> 7465DL5=<< EFG45=F>< 4<??><=>7> ?D>5>F4 DG>>6>4<F5?L ?>4?<EO645F ?>OE=<F5?L=GN 

74?<E>G, 6<5EF5 E 7444=<5< < E6><< ?<EL<5==O< >F7O6>< ?5D5445F 74654GNM5= >F45?5=<5< =5 
?>74=55, G5< 74 =545?N 4> 74M<FO 4?O ?D>6545=<O ?D>F54GDO D5F5=7<D>64=<O (�$�������� 
�). 

$45>F4 E445FEO DG>>6>4<F5?N <5F>4<G5E>>7> >5N54<=5=<O =5 ?>74=55 2-E 4=5= 4> ?D>F5-
4GDO ��� 4?O >7=4>><?5=<O E ?D>5>F><. $G>>6>4<F5?L �� ?>4?<EO645F F<FG?L=O= ?<EF ?>OE=<-
F5?L=>= 74?<E>< 4<??><=OE ?D>5>F>6 (D45>F) < 4>?GE>45F EFG45=F4 > 74M<F5. 

%FG45=F <>65F 5OFL =5 4>?GM5= > 74M<F5 4<??><=>7> ?D>5>F4 6 E?54GNM<E E?GG4OE: 
2 ?D< =4?<G<< 4>445<<G5E>>= 744>?65==>EF< ?> ?D><56GF>G=O< 4FF5EF4F<O< 6 E>>F65F-

EF6<< E GG55=O< ??4=><;  
2 ?D< =4DGL5=<< ED>>>6 74>D5??5=<O < GF65D645=<O F5<O 4<??><=>7> ?D>5>F4;  
2 ?D< =5E>5?N45=<< >4?5=44D=>7> 7D4D<>4 ?>47>F>6>< 4<??><=>7> ?D>5>F4; 
2  6 E?GG45 >FD<F4F5?L=>7> >F7O64 DG>>6>4<F5?O =4 4<??><=O= ?D>5>F. 
�D5464D<F5?L=4O 74M<F4 ?D>6>4<FEO 6 GEF4=>6?5==O5 ?D<>47>< 4<D5>F>D4 F5E=<>G<4 

ED>><.  
�><<EE<O ?> ?D5474M<F5 <>65F D45>F4FL E >4=<< EFG45=F>< 6E5< E>EF46>< <?< D4E?D545-

?<FL EFG45=F>6 ?> G?5=4< >><<EE<<. 
�><<EE<O (G?5= >><<EE<<) ?D>65DO5F E>>F65FEF6<5 F5<O 4<??><=>7> ?D>5>F4, $�� DG>>-

6>4<F5?O 44==O< E>>F65FEF6GNM57> ?D<>474, 7=4>><<FEO E >F7O6>< DG>>6>4<F5?O =4 4<??><=GN 
D45>FG, F5>EF>< 6OEFG??5=<O (4>>?444) EFG45=F4, ?D>65DO5F >><??5>F=>EFL 4<??><=>7> ?D>5>F4, 
=4?<G<5 < >D>D<?5=<5 E>?D>6>4<F5?L=OE 4>>G<5=F>6 (F<FG?L=O= ?<EF, 7444=<5 =4 6O?>?=5=<5 
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4<??><=>7> ?D>5>F4, >4?5=44D=O= ??4=, >F7O6 DG>>6>4<F5?O, E?<E>> <E?>?L7G5<OE <EF>G=<>>6), 
E>>F65FEF6<5 >D>D<?5=<O 4<??><=>7> ?D>5>F4 <5F>4<G5E><< D5>><5=44F<O<, E>>F65FEF6<5 >7?46-
?5=<O >E=>6=><G F5>EFG 4<??><=>7> ?D>5>F4, 7=4>><<FEO E 45<>=EFD4F<>==O<< <4F5D<4?4<<. 

�><<EE<O ?> ?D5474M<F5 =4 >E=>64=<< D57G?LF4F>6 ?D5464D<F5?L=>= 74M<FO ?D<=<<45F 
D5L5=<5 > 7>F>6=>EF< 4<??><=>7> ?D>5>F4 > 74M<F5 < =47=4G45F D5F5=75=F4. 

�O?>?=5==O5 >64?<D<>4F<>==O5 D45>FO D5F5=7<DGNFEO E?5F<4?<EF4<< <7 G<E?4 D45>F=<-
>>6 ?D54?D<OF<=, >D74=<74F<=, ?D5?>4464F5?5= >5D47>64F5?L=OE >D74=<74F<=, E>D>L> 6?445N-
M<E 6>?D>E4<<, E6O74==O<< E F5<4F<>>= 6O?GE>=OE >64?<D<>4F<>==OE D45>F. 

$5F5=75=FO 4<??><=OE ?D>5>F>6 =47=4G4NFEO ?D<>47>< 4<D5>F>D4.  
%>45D64=<5 D5F5=7<< 4>6>4<FEO 4> E6545=<O EFG45=F4 =5 ?>74=55, G5< 74 45=L 4> 74M<FO 

4<??><=>7> ?D>5>F4. �=5E5=<5 <7<5=5=<= 6 4<??><=O= ?D>5>F ?>E?5 ?>?GG5=<O D5F5=7<< =5 4>-
?GE>45FEO.  

�D>F54GD4 74M<FO GEF4=46?<645FEO ?D54E544F5?5< 7>EG44DEF65==>= M>74<5=4F<>==>= >>-
<<EE<< ?> E>7?4E>64=<N E G?5=4<< >><<EE<<.  

&5E=<>G< <E?>?L7G5F =5>5E>4<<O5 4?O >D74=<74F<< >5D47>64F5?L=>= 45OF5?L=>EF< ED54-
EF64 ?D< ?D>6545=<< 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< EFG45=F>6: 

2 ?5DE>=4?L=O= >><?LNF5D; 
2 F5?56<7>D; 
2 ED54EF64 >><<G=<>4F<<. 
�>DO4>> 74M<FO:  
- ?D54EF46?5=<5 6O?GE>=<>4, GF5=<5 >F7O64 DG>>6>4<F5?O > 4<??><=>< ?D>5>F5, > D57G?L-

F4F4E 45<>=EFD4F<>==>7> M>74<5=4, <=4<6<4G4?L=OE 4>EF<65=<OE 74 >GDE >5GG5=<O;  
- 4>>?44 (4> 15 <<=GF) EFG45=F4, 6 >>F>D>< <7?4745FEO F5?L D45>FO, 7444G<, >5N5>F, ?D54<5F, 

D57G?LF4FO < 6O6>4O, <E >5>E=>64=<5, >F<5G45FEO 4>FG4?L=>EFL < ?D4>F<G5E>4O 7=4G<<>EFL E <E-
?>?L7>64=<5< >><?LNF5D=>= ?D575=F4F<< (E<. D5>><5=44F<< 6 �$�������� �);   

- 6>?D>EO G?5=>6 >><<EE<<;  
- >F65FO EFG45=F4 =4 6>?D>EO;  
- >><<5=F4D<< EFG45=F4 ?> ?>6>4G 74<5G4=<=, E45?4==OE 6 >F7O65 < D5F5=7<<;  
- >5<5= <=5=<O<<, 6 >>F>D>< <>7GF ?D<=OFL GG4EF<5 6E5 ?<F4 (D45>F>44F5?<, ?D5?>4464-

F5?<, EFG45=FO).  
�D< >?D545?5=<< <F>7>6>= >F<5F>< GG<FO64NFEO: 4>>?44 6O?GE>=<>4 ?> 4<??><=><G ?D>-

5>FG, >F65FO =4 6>?D>EO, >F<5F>4 74 6O?>?=5=<5 45<>=EFD4F<>==>7> M>74<5=4, >F7O6 DG>>6>4<-
F5?O, <=4<6<4G4?L=O5 4>EF<65=<O 6O?GE>=<>4 74 >GDE >5GG5=<O.  

$57G?LF4FO 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< >?D545?ONFEO >F<5F>4<<: «>F?<G=>», 
«E>D>L>», «G4>6?5F6>D<F5?L=>», «=5G4>6?5F6>D<F5?L=>» >5NO6?ONFEO 6 F>F 65 45=L ?>E?5 >D>D<-
?5=<O 6 GEF4=>6?5==>< ?>DO4>5 ?D>F>>>?>6 74E544=<= 7>EG44DEF65==OE M>74<5=4F<>==OE >><<E-
E<=.  

�F>7>64O >F<5F>4 74 4<??><=O= ?D>5>F (D45>FO) D4EEG<FO645FEO >4> ED54=55 4D<D<5F<G5-
E>>5 >F<5F>> G?5=>6 �-�, ?>?GG5==OE =4 45<>=EFD4F<>==>< M>74<5=5, 74 6O?>?=5=<5 < 74M<FG 
4<??><=>7> ?D>5>F4.  

$5L5=<5 ?D<=<<45FEO =4 74>DOFOE 74E544=<OE ?D>EFO< 5>?LL<=EF6>< 7>?>E>6 G?5=>6 >>-
<<EE<<, GG4EF6GNM<E 6 74E544=<<, ?D< >5O74F5?L=>< ?D<EGFEF6<< ?D54E544F5?O >><<EE<< <?< 57> 
74<5EF<F5?O. �D< D46=>< G<E?5 7>?>E>6 ?D54E544F5?L >><<EE<< (<?< 74<5=ONM<= 57> 74<5EF<F5?L 
?D54E544F5?O >><<EE<<) >5?4445F ?D46>< D5L4NM57> 7>?>E4.  

�D<E6>5=<5 E>>F65FEF6GNM5= >64?<D<>4F<< 6O?GE>=<>G < 6O44G4 5<G 4>>G<5=F4 > ED54-
=5< ?D>D5EE<>=4?L=>< >5D47>64=<< >EGM5EF6?O5FEO ?D< GE?>6<< GE?5L=>7> ?D>E>645=<O 7>EG-
44DEF65==>= <F>7>6>= 4FF5EF4F<<. �O?GE>=<>G, <<5NM5<G =5 <5=55 75% >F<5F>> «>F?<G=>», 
6>?NG4O >F5=>< ?> 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<<, >EF4?L=O5 >F<5F>< 3 «E>D>L>», 6O44-
5FEO 4<??>< E >F?<G<5<.   
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�-� 6O=>E<F D5L5=<5 > ?D<E6>5=<< GD>6=O >64?<D<>4F<< 6O?GE>=<>4< ?> E?5F<4?L=>EF< 
ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O 15.02.10. �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> 
>FD4E?O<) 3 F5E=<>-<5E4FD>=<>.   

�<F4<, =5 ?D>L54L<< 7>EG44DEF65==GN <F>7>6GN 4FF5EF4F<N <?< ?>?GG<6L<< =4 <F>7>-
6>= 4FF5EF4F<< =5G4>6?5F6>D<F5?L=O5 D57G?LF4FO, 4 F4>65 ?<F4<, >E6><6L<< G4EFL >5D47>64F5?L-
=>= ?D>7D4<<O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O < (<?<) >FG<E?5==O< <7 F5E=<>G<4, 6O-
445FEO E?D46>4 >5 >5GG5=<< <?< > ?5D<>45 >5GG5=<O ?> >5D47FG, E4<>EF>OF5?L=> GEF4=46?<645-
<><G F5E=<>G<><.   

�5GG4NM<5EO, =5 ?D>L54L<5 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< <?< ?>?GG<6L<5 =4 
7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< =5G4>6?5F6>D<F5?L=O5 D57G?LF4FO, ?D>E>4OF 7>EG44DEF65=-
=GN <F>7>6GN 4FF5EF4F<N =5 D4=55, G5< G5D57 L5EFL <5EOF56 ?>E?5 ?D>E>645=<O 7>EG44DEF65==>= 
<F>7>6>= 4FF5EF4F<< 6?5D6O5.  

�?O ?D>E>645=<O 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< ?<F>, =5 ?D>L54L55 7>EG44D-
EF65==GN <F>7>6GN 4FF5EF4F<N ?> =5G646<F5?L=>= ?D<G<=5 <?< ?>?GG<6L55 =4 7>EG44DEF65=-
=>= <F>7>6>= 4FF5EF4F<< =5G4>6?5F6>D<F5?L=GN >F5=>G, 6>EEF4=46?<645FEO 6 >5D47>64F5?L=>= 
>D74=<74F<< =4 ?5D<>4 6D5<5=<, GEF4=>6?5==O= F5E=<>G<>< E4<>EF>OF5?L=>, => =5 <5=55 ?D54G-
E<>FD5==>7> >4?5=44D=O< GG55=O< 7D4D<>>< 4?O ?D>E>645=<O 7>EG44DEF65==>= <F>7>6>= 4FF5-
EF4F<< E>>F65FEF6GNM5= >5D47>64F5?L=>= ?D>7D4<<O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64-
=<O. 

�>6F>D=>5 ?D>E>645=<5 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< 4?O >4=>7> ?<F4 =47=4G4-
5FEO F5E=<>G<>< =5 5>?55 46GE D47. 

�<F4<, =5 ?D>E>4<6L<< 7>EG44DEF65==GN <F>7>6GN 4FF5EF4F<N ?> G646<F5?L=>= ?D<G<=5, 
?D54>EF46?O5FEO 6>7<>6=>EFL ?D>=F< 7>EG44DEF65==GN <F>7>6GN 4FF5EF4F<N 557 >FG<E?5=<O <7 
F5E=<>G<4.  

�>?>?=<F5?L=O5 74E544=<O 7>EG44DEF65==OE M>74<5=4F<>==OE >><<EE<= >D74=<7GNFEO 6 
GEF4=>6?5==O5 F5E=<>G<>< ED>><, => =5 ?>74=55 G5FOD5E <5EOF56 ?>E?5 ?>44G< 74O6?5=<O ?<F><, 
=5 ?D>E>4<6L<< 7>EG44DEF65==GN <F>7>6GN 4FF5EF4F<N ?> G646<F5?L=>= ?D<G<=5.  

$5L5=<5 7>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<< >D>D<?O5FEO ?D>F>>>?><, >>F>DO= 
?>4?<EO645FEO ?D54E544F5?5< 7>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<< (6 E?GG45 >FEGFEF6<O 
?D54E544F5?O - 57> 74<5EF<F5?5<) < E5>D5F4D5< 7>EG44DEF65==>= M>74<5=4F<>==>= >><<EE<< < ED4-
=<FEO 6 4DE<65 F5E=<>G<4 (�$�������/ �, �, �). 
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�$�������� � 

 
�5D5G5=L 4>>G<5=F>6 ���: 
 
2 ?D>F>>>?O ?5447>7<G5E><E E>65F>6; 
2 ?D<>47 4<D5>F>D4 > 4>?GE>5 >5GG4NM<EEO; 
2 E6>4=4O 654><>EFL <F>7>6OE >F5=>>; 
2 6GD=4?O F/> 74 65EL ?5D<>4 >5GG5=<O; 
2 ?5D5G5=L F5< 6O?GE>=OE >64?<D<>4F<>==OE D45>F, ?>4?<E4==O= D45>F>44F5?5<; 
2 ?D>F>>>? >7=4>><?5=<O >5GG4NM<EEO E �D>7D4<<>= ���, F5<4<< 4<??><=OE ?D>5>F>6 (D4-
5>F); 
2  >F5=>G=O= ?<EF ��� ?> >F5=>5 GD>6=O >5D47>64==>EF< 6O?GE>=<>4 ?D< 74M<F5 4<??><=OE 
?D>5>F>6 (D45>F) 6O?GE>=<>>6; 
2 ?D>F>>>? 74E544=<O >><<EE<< ?> ���; 
2 4FF5EF4F<>==O5 ?<EFO E <5EF ?D>E>645=<O ?D4>F<><; 
2 E6<45F5?LEF64 >5 >E6>5=<< ��; 
2 >=<74 ?D>F>>>?>6 74E544=<= M>74<5=4F<>==OE >><<EE<=. 
 

 

 

 

 

 

 

 

 

 



16 
 

 
 

�$�������� � 

����%&�$%&�� ��$�������/ � ���������� ����&���  
%��$����%��� ����%&� 

�>EG44DEF65==>5 46F>=><=>5 ?D>D5EE<>=4?L=>5 >5D47>64F5?L=>5 GGD5645=<5 
%65D4?>6E>>= >5?4EF< 

«�����&����,%��� &�%���'� ��&������$���&/��.-�% �$������%&� � 
%�$��%�» 

 
'&��$���.:  
�4<. 4<D5>F>D4 ?> '$ 
____________________ -.�. �>D>6<=4 

������� 
=4 4<??><=GN D45>FG (?D>5>F) 

 
EFG45=FG 7DG??O ____    E?5F<4?L=>EF< 15.02.10 �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> 
>FD4E?O<)  
________________________________________________________________________________ 
$.�.�.__________________________________________________________________________ 
��, ���, �� ___________________________________________________________________ 
________________________________________________________________________________ 
$G>>6>4<F5?L 4<??><=>= D45>FO (?D>5>F4)___________________________________________ 
�>?6=>EFL _______________________________ 
%D>> 6O?>?=5=<O 4<??><=>= D45>FO (?D>5>F4) E «__________» ?> «___________»  
1.&5<4 4<??><=>= D45>FO (?D>5>F4) 
___________________________________________________________________ 
________________________________________________________________________________ 
2.%>45D64=<5 <?< ?5D5G5=L 6>?D>E>6, ?>4?564M<E D47D45>F>5 6 4<??><=>= D45>F5 (?D>5>F5): 

1.  

2.  

3.  

4.  

5.  
3. �5D5G5=L 7444=<= D4EG5F=>= G4EF<: 

1.  

2.  

3.  

4.  

4. �5D5G5=L 7D4D<G5E>>7> <4F5D<4?4 (E F>G=O< G>474=<5< >5O74F5?L=OE G5DF565=) 

1.  

2.  

3.  
�4F4 6O44G< «_______» ___________________ 20____ 7. 
%D>> E44G< «_______» _______________ 20____ 7. 
�444=<5 6O44? ____________________________ 
�444=<5 ?>?GG<? ___________________________ 
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�$�������� � 

����%&�$%&�� ��$�������/ � ���������� ����&��� 
%��$����%��� ����%&� 

 
�>EG44DEF65==>5 46F>=><=>5 ?D>D5EE<>=4?L=>5 >5D47>64F5?L=>5 GGD5645=<5 

%65D4?>6E>>= >5?4EF< 
«�����&����,%��� &�%���'� ��&������$���&/��.-�% �$������%&� � 

%�$��%�» 
 
 
 �>?GEF<FL > 74M<F5 

$G>>6>4<F5?L �� 
_______________________________  

(?>4?<EL) 

/______________________________ 
($.�.�.) 

«_____»____________ 20___ 7. 
 

 
 
 

_________________________________________________________ 
_________________________________________________________ 

(&5<4) 
 

�<??><=O= ?D>5>F 
 

�>OE=<F5?L=4O 74?<E>4 
 

 
%?5F<4?L=>EFL: 15.02.10 �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<) 
 (=4764=<5) 

 
�O?>?=<? 
EFG45=F 

     

 
(7DG??4)  (?>4?<EL)  $.�.�. 

$G>>6>4<F5?L      
 GG5=4O EF5?5=L, 4>?6=>EFL  (?>4?<EL)  $.�.�. 

�>=EG?LF4=F      
 GG5=4O EF5?5=L, 4>?6=>EFL  (?>4?<EL)  $.�.�. 

$5F5=75=F      
 GG5=4O EF5?5=L, 4>?6=>EFL  (?>4?<EL)  $.�.�. 

 
 
 

2023 
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�$�������� � 
 

%���$����� ��/%��&��,��� ����%�� 
 
$�$�$�& 
�������� 
1 &�%������'�%��/ '�%&, 
1.1 %4D4>F5D<EF<>4 F5E=>?>7<G5E>>7> ?D>F5EE4  
1.2 %4D4>F5D<EF<>4 F5E=>?>7<G5E>>7> >5>DG4>64=<O 
1.3 �=4?<7 F5E=>?>7<G5E>>7> >5N5>F4   
2 ���%&$'�&�$%��/ '�%&,* 

2.1 �D>5>F=>-F5E=<G5E><5 FD55>64=<O  
2.2 �=4?<7 64D<4=F>6 D54?<74F<< E<EF5<O,  
2.3 $47D45>F>4 EFDG>FGD=OE, DG=>F<>=4?L=OE, ?D<=F<?<4?L=OE < 4DG7<E EE5< 
2.4 &5E=<G5E>>5, 4?7>D<F<<G5E>>5 < ?D>7D4<<=>5 >55E?5G5=<5 
2.5 ->E??G4F4F<O < =4?44>4 GEFD>=EF6 
3 �%%������&��,%��/ '�%&,* 

4 �$������&�����/ '�%&, 
4.1&<? ?D><76>4EF64  
4.2 �D74=<74F<O D45>G57> <5EF4 
4.3 �D74=<74F<O G?D46?5=<O GG4EF>>< 
5 ������%��%&, �������/&��,��%&� 
6 �%$��� ��$'��.-�� %$��/ 
����.'���� 
�%���,�'��/� �%&�'���� ��$�$��&�� 
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�$�������� � 
 

 
�$����� �$�$�����/ ��������� $���&/ (�$���&�) 

 
1 �%����/� ��������/ 
 
1.1 &5>EF 4>?65= 5OFL 6O?>?=5= ?N5O< ?5G4F=O< E?>E>5>< =4 ?<LGM5= <4L<=>5 <?< E 

<E?>?L7>64=<5< >><?LNF5D4 < ?D<=F5D4 =4 >4=>= EF>D>=5 55?>= 5G<47< D>D<4F4 �4 (210×297) << 
G5D57 ?>?F>D4 <=F5D64?4 G5D=O< F65F><, >57?L 14 Times New Roman, 65?<G<=4 4574F=>7> >FEFG?4 
1,25 <<. 

$4EEF>O=<5 <564G 747>?>6>>< < F5>EF>< ?D< 6O?>?=5=<< 4>>G<5=F4 <4L<=>?<E=O< E?>-
E>5>< 4>?6=> 5OFL D46=> 3,4 <=F5D64?4<. $4EEF>O=<5 <564G 747>?>6>4<< D4745?4 < ?>4D4745?4 - 
2 <=F5D64?4. 

$47D5L45FEO <E?>?L7>64FL >><?LNF5D=O5 6>7<>6=>EF< 4>F5=F<D>64=<O 6=<<4=<O =4 >?D5-
45?5==OE F5D<<=4E, D>D<G?4E, F5>D5<4E, ?D<<5=OO LD<DFO D47=>= 74D=<FGDO. �>?G6<D=O= 
LD<DF < ?>4G5D><64=<5 =5 ?D<<5=ONFEO. 

1.2 �4?<E4=<5 F5>EF4 4>?6=> 5OFL GUF><<, >4G5EF65==O<. �?<E>< < 7D4D<G5E><5 =5F>G=>-
EF<, >5=4DG65==O5 6 F5>EF5, <>7GF 5OFL <E?D46?5=O ?>E?5 4>>GD4F=>= ?>4G<EF>< <?< 74>D4L<64-
=<5< 55?>= >D4E>>=. �4>?5=>< =5 4>?GE>4NFEO. 

1.3 �5D5G5=L < ?D46<?4 4>?GE>45<OE E>>D4M5=<= E?>6 GEF4=>6?5=O 6 ��%& 2.316, ��%& 
7.12. 

�E?< 6 4FF5EF4F<>==>= D45>F5 ?D<=OF4 >E>54O E<EF5<4 E>>D4M5=<O E?>6 < =4<<5=>64=<=, 
F> ?5D5G5=L ?D<=OFOE E>>D4M5=<= 4>?65= 5OFL ?D<6545= 6 EFDG>FGD=>< M?5<5=F5 >GDE>6>= D4-
5>FO (?D>5>F4) ��$�������/, ������'���/ � %��$�-���/, >>F>DO= D4E?>?4745FEO =4 
E?54GNM5= EFD4=<F5 74 EFDG>FGD=O< M?5<5=F>< %���$�����. 

1.4 &5>EF ?5G4F45FEO (?<L5FEO) E E>5?N45=<5< ?>?5=: ?56>7> 3 30 <<, ?D46>7> 3 10 <<, 
=<6=57> < 65DE=57> 3 =5 <5=55 15 <<. 

1.5 � F5>EF5 4>?GEF<<O >E5D>>>?<< 4>>G<5=F>6. 
 
2 ��������� &��%&� 
 
2.1 &5>EF 4>?65= 5OFL >D4F><<, GUF><< < =5 4>?GE>4FL D47?<G=OE F>?>>64=<=. �D< <7?>-

65=<< >5O74F5?L=OE FD55>64=<= 4>?6=O ?D<<5=OFLEO E?>64 «4>?6=>», «E?54G5F», «=5>5E>4<<>», 
«FD55G5FEO», «=5 4>?GE>45FEO», «74?D5M45FEO», «=5 E?54G5F». 

2.2 �7?>65=<5 F5>EF4 ?D<6>4<FEO 6 557?<G=>= D>D<5. �4?D<<5D: «&7=4G5=<5 >>MDD<F<-
5=F4 ?D<=OF>&», <?< «?D<=<<45FEO». 

2.3 � F5>EF5 4>?6=O ?D<<5=OFLEO =4GG=>-F5E=<G5E><5 F5D<<=O, >5>7=4G5=<O < >?D545?5-
=<O, GEF4=>6?5==O5 E>>F65FEF6GNM<<< EF4=44DF4<<, 4 ?D< <E >FEGFEF6<< 3 >5M5?D<=OFO5 6 
=4GG=>-F5E=<G5E>>= ?<F5D4FGD5. 

2.4 � F5>EF5 =5 4>?GE>45FEO: 
3 ?D<<5=OFL >5>D>FO D477>6>D=>= D5G<, F5E=<F<7<O, ?D>D5EE<>=4?<7<O; 
3 ?D<<5=OFL 4?O >4=>7> < F>7> 65 ?>=OF<O D47?<G=O5 =4GG=>-F5E=<G5E><5 F5D<<=O, 5?<7-

><5 ?> E<OE?G (E<=>=<<O), 4 F4>65 <=>EFD4==O5 E?>64 ?D< =4?<G<< D46=>7=4G=OE E?>6 < F5D<<-
=>6 =4 DGEE>>< O7O>5; 

3 E>>D4M4FL >5>7=4G5=<O 54<=<F D<7<G5E><E 65?<G<=, 5E?< >=< G?>FD55?ONFEO 557 F<DD, 
=4?D<<5D, <, E, E?54G5F ?<E4FL «1 <, 1 E <?< <5FD, E5>G=44», 74 <E>?NG5=<5< 54<=<F D<7<G5E><E 
65?<G<= 6 7>?>6>4E < 5>>>6<>4E F45?<F, 6 D4EL<DD>6>4E 5G>65==OE >5>7=4G5=<=, 6E>4OM<E 6 
D>D<G?O < D<EG=><; 

3 ?D<<5=OFL <4F5<4F<G5E><= 7=4> <<=GE (3) ?5D54 >FD<F4F5?L=O<< 7=4G5=<O<< 65?<G<= 
(E?54G5F ?<E4FL E?>6> «<<=GE»); 
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3 ?D<<5=OFL 7=4> «Ø» 4?O >5>7=4G5=<O 4<4<5FD4 (E?54G5F ?<E4FL E?>6> «4<4<5FD»). �D< 
G>474=<< D47<5D4 <?< ?D545?L=>7> >F>?>=5=<O 4<4<5FD4 =4 G5DF564E, ?><5MU==OE 6 F5>EF5 ��$, 
?5D54 D47<5D=O< G<E?>< E?54G5F ?<E4FL 7=4> «Ø»; 

3 ?D<<5=OFL 557 G<E?>6OE 7=4G5=<= <4F5<4F<G5E><5 7=4><, =4?D<<5D, > (5>?LL5), < 
(<5=LL5), = (D46=>), b (=5 D46=>), 4 F4>65 7=4>< 7 (=><5D), % (?D>F5=F); 

3 ?D<<5=OFL <=45>EO EF4=44DF>6 557 D57<EFD<DGNM57> =><5D4, =4?D<<5D, ��%& 2.316; 
3 E>>D4M5=<5 E?>6 < E?>6>E>G5F4=<=, 74 <E>?NG5=<5< >D>D<?5=<O 5<5?<>7D4D<G5E>>= 74-

?<E<, E>7?4E=> ��%& 7.12, 4>?GE>45<OE E>>D4M5=<= E?>6 6 >>=EFDG>F>DE>>= 4>>G<5=F4F<< 6O-
?>?=ONFEO 6 E>>F65FEF6<< E ��%& 2.316. 

2.5 %>>D4M5=<O 6 F5>EF5 4>?GE>4NFEO F>?L>> >5M5?D<=OFO5:  
3 6 E5D54<=5 ?D54?>65=<= 3 «E<.», «F. 5.»; 
3 6 >>=F5 ?D54?>65=<= 3 «< F. 4.», «< 4D.», «< F. ?.»; 
3 ?D< D4<<?<< <?< =4764=<< GGD5645=<O 3 E>>D4M5=<O GG5=OE EF5?5=5= < 764=<=, =4?D<-

<5D, 4-D F5E=. =4G> �64=>6 �.�.; >4=4. D<7.-<4F. =4G> �5FD>6 ..%.; G?.->>D. �� $$; ?D>D. %���; 
4>44. %<<D=>6; 4>F. %5<5=>6; EF. (<?.) =4GG. E>FD. %���; 

3 ?D< =4?<G<< F<DD>6>7> >5>7=4G5=<O 3 «E.» (EFD4=<F4), «7.» (7>4), «77.» (7>4O), =4?D<<5D, 
E. 5, 2006 7. 

�5 4>?GE>4NFEO E>>D4M5=<O E?54GNM<E E?>6 < E?>6>E>G5F4=<=: «F4> >4>», «F4> =47O645-
<O=», «F4><< >5D47><», «F4> GF>», «=4?D<<5D». 

2.6 � F5>EF5 E?54G5F ?D<<5=OFL EF4=44DF<7>64==O5 54<=<FO D<7<G5E><E 65?<G<=, <E 
=4<<5=>64=<5 < >5>7=4G5=<5, GEF4=>6?5==O5 6 ��%& 8.417. 

2.7 �=F5D64?O G<E5? 6 F5>EF5 74?<EO64NF E> E?>64<< «>F» < «4>» (<<5O 6 6<4G «>F < 4>... 
6>?NG<F5?L=>»), 5E?< ?>E?5 G<E5? G>474=4 54<=<F4 D<7<G5E>>= 65?<G<=O <?< G<E?4 ?D54EF46?ONF 
557D47<5D=O5 >>MDD<F<5=FO <?< G5D57 F<D5, 5E?< G<E?4 ?D54EF46?ONF ?>DO4>>6O5 =><5D4. 

2.8 �<5=4 E?54G5F ?<E4FL 6 E?54GNM5< ?>DO4>5: D4<<?<O, <<O, >FG5EF6> (<?< 3 D4<<?<O, 
<=<F<4?O, ?D< MF>< =5 4>?GE>45FEO ?5D5=>E <=<F<4?>6 >F45?L=> >F D4<<?<< =4 E?54GNMGN 
EFD>>G). 

2.9 �E?>?L7>64=<5 F<F4F FD55G5F E>5?N45=<O ?D46<?, 6>?NG4NM<E >4> >5M<5 FD55>64=<O 
> F<F4F=><G <4F5D<4?G, F4> < G>474=<O =4 F5 <?< <=O5 >E>55==>EF< 57> >D>D<?5=<O. 

� >5M<< FD55>64=<O< =G6=> >F=5EF< E?54GNM<5: 
3 F<F<DG5<O= F5>EF 4>?65= ?D<6>4<FLEO 6 >46OG>4E 557 <4?5=L<E <7<5=5=<=. �54>?GEF<< 

?D>?GE> E?>6, ?D54?>65=<= <?< 4574F56 557 G>474=<O =4 F>, GF> F4>>= ?D>?GE> 45?45FEO (F4><5 
?D>?GE>< >5OG=> >5>7=4G4NFEO >FF>G<5<). �54>?GEF<<4 74<5=4 E?>6, F4> >4> 74<5=4 6E57> >4=>7> 
E?>64 4465 >G5=L 5?<7><< 5<G E<=>=<<>< <>65F EGM5EF65==> <7<5=<FL E<OE? 6OE>47O64=<O. 
�>?6=O E>ED4=OFLEO 6E5 >E>55==>EF< 46F>DE><E =4?<E4=<=, F4> >4> <7<5=5=<5 F4><E =4?<E4=<= 
?D<6>4<F > <E>465=<N E<OE?4 6OE>47O64=<O, EF<?O 46F>DE>>7> <7?>65=<O (<E?D46?ONFEO E?>64, 
=4?<E4==O5 ?> EF4D>= >DD>7D4D<<, 4 F4>65 >?5G4F><); 

3 F<F<D>64=<5 4>?6=> 5OFL ?>?=O<; 
3 =5?L7O >5N54<=OFL 6 >4=>= F<F4F5 =5E>>?L>> 6O45D65>, 67OFOE <7 D47=OE <5EF F<F<DG5-

<>7> <EF>G=<>4 (E>FO MF< 6O45D6>< <>7GF 5OFL < ?>7<G5E>< E6O74==O<<, < >4=>D>4=O<< ?> <4-
F5D<4?G). �4644O F4>4O 6O45D6>4 4>?6=4 >D>D<?OFLEO >4> >F45?L=4O F<F4F4; 

3 6E5 F<F4FO 4>?6=O E>?D>6>644FLEO G>474=<O<< =4 <EF>G=<>. -F> ?>76>?O5F ?D< =5>5E>-
4<<>EF< ?D>65D<FL ?D46<?L=>EFL F<F<D>64=<O, ?>6OL45F >F65FEF65==>EFL 46F>D4 74 F>G=>EFL F<-
F<D>64=<O. %EO?>< >D>D<?ONFEO ?> >5M<< ?D46<?4< E>EF46?5=<O 5<5?<>7D4D<G5E><E >?<E4=<= 
6 E>>F65FEF6<< E 5.9, =4?D<<5D, [3, E. 5], [2, E. 4-6], [2, E. 1, 4, 6]. 
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3 ���$�%/ �'��$�&�� 
 
3.1 %FD4=<FO >GDE>6>= D45>FO (?D>5>F4) E?54G5F =G<5D>64FL 4D45E><<< F<DD4<<, E>5?N-

44O E>6>7=GN =G<5D4F<N ?> 6E5<G F5>EFG. �><5D EFD4=<FO ?D>EF46?ONF 6 ?D46>< 65DE=5< G7?G 
EFD4=<FO. 

3.2 &<FG?L=O= ?<EF < 7444=<5 6>?NG4NF 6 >5MGN =G<5D4F<N EFD4=<F >64?<D<>4F<>==>= 
D45>FO, =><5D4 EFD4=<F =4 =<E =5 ?D>EF46?ONFEO. 

3.4 �??NEFD4F<< < F45?<FO, D4E?>?>65==O5 =4 >F45?L=OE ?<EF4E, < D4E?5G4F>< E -��, 
D47<5M5==O5 6 F5>EF5 >GDE>6>= D45>FO (?D>5>F4), 6>?NG4NF 6 >5MGN =G<5D4F<N EFD4=<F. 

3.5 $4745?O, ?>4D4745?O, ?G=>FO, ?>4?G=>FO >E=>6=>= G4EF< D45>FO =G<5DGNF 4D45E><<< 
F<DD4<<. 

3.6 $4745?O 4>?6=O <<5FL ?>DO4>>6O5 =><5D4 6 ?D545?4E D45>FO, >5>7=4G5==O5 4D45E><<< 
F<DD4<< 557 F>G>< < 74?<E4==O5 E 4574F=>7> >FEFG?4. �47>?>6>> D4745?4 ?5G4F45FEO ?D>?<E=O<< 
5G>64<< ?>E5D54<=5 ?<EF4 557 F>G>< 6 >>=F5, 557 ?>4G5D><64=<O. �5 4>?GE>45FEO ?5D5=>E E?>64 =4 
E?54GNMGN EFD>>G, ?D<<5=5=<5 D<<E><E F<DD, <4F5<4F<G5E><E 7=4>>6 < 7D5G5E><E 5G>6.  

�464O= D4745? ?5G4F45FEO E =>6>7> ?<EF4. �<65 747>?>6>4 D4745?4 4>?6=4 5OFL >EF46?5=4 
>4=4 E6>5>4=4O EFD>>4. �E?< D4745? 45?<FEO =4 ?>4D4745?O, F> =5 4>?6=> 5OFL F5>EF4 <564G =<<<. 

3.7 �>4D4745?O =G<5DGNFEO 6 ?D545?4E D4745?4. �><5D ?>4D4745?4 E>EF><F <7 =><5D4 D47-
45?4 < ?>4D4745?4, D4745?U==OE F>G>>=, =4?D<<5D, 1.1, 6 >>=F5 =><5D4 ?>4D4745?4 F>G>4 =5 EF4-
6<FEO. 

�47>?>6>< ?>4D4745?>6 E?54G5F =4G<=4FL ?5G4F4FL E 4574F=>7> >FEFG?4 E ?D>?<E=>= 5G>6O, 
6D47DO4>G =4 1,1 ?G=>F, =5 ?>4G5D><64O, 557 F>G>< 6 >>=F5. �OL5 < =<65 747>?>6>4 ?>4D4745?4 
4>?6=> 5OFL >EF46?5=> ?> >4=>= E6>5>4=>= EFD>>5. �E?< ?>4D4745? 45?<FEO =4 ?G=>FO, F> =5 
4>?6=> 5OFL F5>EF4 <564G =<<<. 

3.8 �G=>FO 4>?6=O <<5FL ?>DO4>>6GN =G<5D4F<N 6 ?D545?4E >464>7> ?>4D4745?4. �><5D 
?G=>F4 6>?NG45F =><5D D4745?4 < ?>DO4>>6O= =><5D ?>4D4745?4 < ?G=>F4, D4745?U==OE F>G>>=, 6 
>>=F5 =><5D4 ?G=>F4 F>G>4 =5 EF46<FEO, =4?D<<5D, 1.1.1, 1.1.2, < ?5G4F45FEO E 4574F=>7> >FEFG?4. 
�G=>F <>65F <<5FL 747>?>6>>, >>F>DO= 74?<EO64NF E ?D>?<E=>= 5G>6O, E 4574F=>7> >FEFG?4. %6>-
5>4=4O EFD>>4 <564G 747>?>6>>< ?G=>F4 < ?>E?54GNM<< F5>EF>< =5 >EF46?O5FEO. �E?< ?G=>F 45-
?<FEO =4 ?>4?G=>FO, F> =5 4>?6=> 5OFL F5>EF4 <564G =<<<. 

3.9 �><5D ?>4?G=>F4 6>?NG45F =><5D D4745?4, ?>4D4745?4, ?G=>F4 < ?>DO4>>6O= =><5D ?>4-
?G=>F4, D4745?5==OE F>G>>=, 6 >>=F5 =><5D4 ?>4?G=>F4 F>G>4 =5 EF46<FEO, =4?D<<5D, 1.1.1.1, 
1.1.1.2 < F. 4. �>4?G=>F <>65F <<5FL 747>?>6>>, >>F>DO= 74?<EO64NF E ?D>?<E=>= 5G>6O, E 4574F-
=>7> >FEFG?4. %6>5>4=4O EFD>>4 <564G 747>?>6>>< ?>4?G=>F4 < ?>E?54GNM57> F5>EF4 =5 >EF46?O-
5FEO. 

3.10 �E?< 747>?>6>> 6>?NG45F =5E>>?L>> ?D54?>65=<=, <E D4745?ONF F>G>4<<. �5D5=>EO 
E?>6 6 747>?>6>4E =5 4>?GE>4NFEO. &>G>4 6 >>=F5 747>?>6>4 =5 EF46<FEO. �47>?>6>> ?>4D4745?4, 
?G=>F4 < ?>4?G=>F4 =5 4>?65= 5OFL ?>E?54=5= EFD>>>= =4 EFD4=<F5.  

3.11 �564G 747>?>6>4<< EFDG>FGD=OE M?5<5=F>6 < ?>E?54GNM<< F5>EF><, =4<<5=>64=<5< 
D4745?>6 >E=>6=>= G4EF< < ?>E?54GNM<< F5>EF><, 4>?6=4 5OFL >4=4 E6>5>4=4O EFD>>4.  

�E?< 4>>G<5=F <<55F ?>4D4745?O, F> =G<5D4F<O ?G=>F>6 4>?6=4 5OFL 6 ?D545?4E ?>4D47-
45?4 < =><5D ?G=>F4 4>?65= E>EF>OFL <7 =><5D>6 D4745?4, ?>4D4745?4 < ?G=>F4, D4745?5==OE F>G-
>4<<. 

3.12 �E?< D4745? <?< ?>4D4745? E>EF><F <7 >4=>7> ?G=>F4, >= F4>65 =G<5DG5FEO. 
3.13 �=GFD< ?G=>F>6 <?< ?>4?G=>F>6 <>7GF 5OFL ?D<6545=O ?5D5G<E?5=<O. �5D54 =4G4?>< 

?5D5G<E?5=<= EF46<FEO 46>5F>G<5. �5D54 >464O< M?5<5=F>< ?5D5G<E?5=<O E?54G5F EF46<FL 45D<E. 
�D< =5>5E>4<<>EF< EEO?>< 6 F5>EF5 ��$ =4 >4<= <7 M?5<5=F>6 ?5D5G<E?5=<O, 6<5EF> 45D<E4 EF4-
6OFEO EFD>G=O5 5G>6O 6 ?>DO4>5 DGEE>>7> 4?D46<F4, =4G<=4O E 5G>6O 4 (74 <E>?NG5=<5< 5G>6 U, 7, 
=, >, G, N, O, L), ?>E?5 >>F>D>= EF46<FEO >DG7?4O E>>5>4, =4?D<<5D, 4) < F. 4. �?O 44?L=5=L5= 45F4-
?<74F<< ?5D5G<E?5=<= =5>5E>4<<> <E?>?L7>64FL 4D45E><5 F<DDO, ?>E?5 >>F>DOE EF46<FEO >DG7?4O 
E>>5>4, 4 74?<EL ?D><76>4<FEO E 4574F=>7> >FEFG?4, =4?D<<5D,  
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4) F5>EF (E> EFD>G=>= 5G>6O) ______________; 
5) _____________________________________. 
3.14 �D< EEO?>4E =4 EFDG>FGD=O5 M?5<5=FO F5>EF4 >GDE>6>= D45>FO (?D>5>F4), >>F>DO= 

<<55F =G<5D4F<N <7 F<DD, =5 D4745?5==OE F>G>>=, G>47O645FEO =4<<5=>64=<5 MF>7> M?5<5=F4 ?>?-
=>EFLN, =4?D<<5D, «&6 E>>F65FEF6<< E D4745?>< 5», <?< «&?> ?G=>FG 3». 

�E?< =><5D (>5>7=4G5=<5) EFDG>FGD=>7> M?5<5=F4 >GDE>6>= D45>FO (?D>5>F4) E>EF><F <7 
F<DD (5G>6O < F<DDO), D4745?5==OE F>G>>=, F> =4<<5=>64=<5 MF>7> EFDG>FGD=>7> M?5<5=F4 =5 G>4-
7O64NF, =4?D<<5D, «&?> 4.10», «&6 E>>F65FEF6<< E �.12».  

-F> FD55>64=<5 =5 D4E?D>EFD4=O5FEO =4 F45?<FO, D>D<G?O < D<EG=><, ?D< EEO?>5 =4 >>F>-
DO5 6E5744 G?><<=4NF =4<<5=>64=<5 MF<E EFDG>FGD=OE M?5<5=F>6, =4?D<<5D, «&?> D>D<G?5 (3)», 
«&6 F45?<F5 �.2», «...=4 D<EG=>5 3».  

�D< EEO?>5 =4 ?5D5G<E?5=<5 G>47O645FEO 57> >5>7=4G5=<5 (< =><5D ?G=>F4), =4?D<<5D, «&6 
E>>F65FEF6<< E ?5D5G<E?5=<5< 5) 4.2.2». 

�D< EEO?>5 =4 ?>>474F5?<, ?D<6545==O5 6 F45?<F5, G>47O64NF =><5D ?>>474F5?O, =4?D<<5D, 
«&6 G4EF< ?>>474F5?O 1 F45?<FO 2» < F. ?. 

�E?< EGM5EF6G5F =5>5E>4<<>EFL =4?><=<FL > F><, GF> >4>>5-?<5> ?>?>65=<5, 57> DD47-
<5=F, >F45?L=O= ?>>474F5?L, 57> 7=4G5=<5, 7D4D<G5E><= <4F5D<4?, 57> ?>7<F<O < F. ?. ?D<6545=O 6 
E>>F65FEF6GNM5< EFDG>FGD=>< M?5<5=F5 ��$, F> EEO?>4 ?D<6>4<FEO 6 >DG7?OE E>>5>4E ?>E?5 E>-
>D4M5=<O «E<.», =4?D<<5D, «&?D46<?4 FD4=E?>DF<D>6>< < ED4=5=<O», «&D<7<>>-E<<<G5E><5 ?>-
>474F5?< (E<. 3.2.1)». 

3.15 �D<<5G4=<O ?D<6>4OF 6 F>< E?GG45, 5E?< =5>5E>4<<O ?>OE=5=<O <?< E?D46>G=O5 44=-
=O5 > E>45D64=<N F5>EF4, F45?<F <?< 7D4D<G5E>>7> <4F5D<4?4. �D<<5G4=<O =5 4>?6=O E>45D64FL 
FD55>64=<=. �D<<5G4=<O E?54G5F ?><5M4FL =5?>ED54EF65==> ?>E?5 F5>EF>6>7>, 7D4D<G5E>>7> <4-
F5D<4?4 <?< 6 F45?<F5, > >>F>DO< >F=>EOFEO MF< ?D<<5G4=<O. %?>6> «�D<<5G4=<5» E?54G5F ?5G4-
F4FL E ?D>?<E=>= 5G>6O E 4574F4 E D47DO4>>= LD<DF4 =4 1,1 ?G=>F < =5 ?>4GUD><64FL. �E?< ?D<<5-
G4=<5 >4=>, F> ?>E?5 E?>64 «�D<<5G4=<5» EF46<FEO F<D5, < F5>EF ?D<<5G4=<O ?5G4F45FEO F>65 E 
?D>?<E=>= 5G>6O. �4=> ?D<<5G4=<5 =5 =G<5DGNF. �5E>>?L>> ?D<<5G4=<= =G<5DGNF ?> ?>DO4>G 
4D45E><<< F<DD4<< 557 ?D>EF46?5=<O F>G><. �>E?5 E?>64 «�D<<5G4=<O» 46>5F>G<5 =5 EF46<FEO. 

�D<<5G4=<5 3 &5>EF ____________________________________________ 
________________________________________________________________. 

�D<<5G4=<O  
1 &5>EF ______________________________________________________ 

________________________________________________________________. 
2 &5>EF ______________________________________________________. 
�D<<5G4=<5 > F45?<F5 ?><5M4NF 6 >>=F5 F45?<FO =44 ?<=<5=, >5>7=4G4NM5= >>>=G4=<5 

F45?<FO 6 E>>F65FEF6<< E 3.15. 
3.16 �D<<5DO <>7GF 5OFL ?D<6545=O 6 F>< E?GG45, 5E?< >=< ?>OE=ONF >4><5-?<5> FD55>64-

=<O <?< E?>E>5EF6GNF 5>?55 >D4F>><G <E <7?>65=<N. �D<<5DO D47<5M4NF, =G<5DGNF < >D>D<-
?ONF F4> 65, >4> < ?D<<5G4=<O. 

 
4 $�$�'�/ � �����&/ ����'�� 
 
4.1 $>D<G?O ?<LGFEO >F45?L=>= EFD>>>=, 6OD46=<64NFEO ?> F5=FDG. �OL5 < =<65 >464>= 

D>D<G?O 4>?6=4 5OFL >EF46?5=4 >4=4 E6>5>4=4O EFD>>4. 
4.2 �>E?5 D>D<G?O ?><5M4NF ?5D5G5=L 6E5E ?D<=OFOE 6 D>D<G?5 E<<6>?>6 E D4EL<DD>6-

>>= <E 7=4G5=<= < G>474=<5< D47<5D=>EF< (5E?< 6 MF>< 5EFL =5>5E>4<<>EFL). �G>65==O5 >5>7=4G5-
=<O 44NF 6 F>= 65 ?>E?54>64F5?L=>EF<, 6 >>F>D>= >=< ?D<6545=O 6 D>D<G?5.  

4.3 $>D<G?O =G<5DGNFEO E>6>7=>= =G<5D4F<5= 6 ?D545?4E 6E5= D45>FO 4D45E><<< F<D-
D4<<. �D< MF>< =><5D D>D<G?O G>47O64NF 6 >DG7?OE E>>5>4E 6 >D4==5< ?D46>< ?>?>65=<< =4 
EFD>>5. �4=G D>D<G?G >5>7=4G4NF 3 (1). 
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4.4 $>D<G?O, ?><5MU==O5 6 ?D<?>65=<OE, 4>?6=O =G<5D>64FLEO >F45?L=>= =G<5D4F<5= 
4D45E><<< F<DD4<< 6 ?D545?4E >464>7> ?D<?>65=<O E 4>546?5=<5< ?5D54 >464>= F<DD>= >5>7=4-
G5=<O ?D<?>65=<O, =4?D<<5D, D>D<G?4 (�.1).  

4.5 �>?GE>45FEO 6O?>?=5=<5 D>D<G? < GD46=5=<= DG>>?<E=O< E?>E>5>< G5DFU6=O< LD<D-
F>< 3 F<? � ��%& 2.304, 6OE>F>= =5 <5=55 2,5 <<, GUD=O< F65F><. 

4.6 � D>D<G?4E 6 >4G5EF65 E<<6>?>6 D<7<G5E><E 65?<G<= E?54G5F ?D<<5=OFL >5>7=4G5=<O, 
GEF4=>6?5==O5 E>>F65FEF6GNM<<< 7>EG44DEF65==O<< EF4=44DF4<< (��%& 8.417). �>OE=5=<O E<<-
6>?>6 < G<E?>6OE >>MDD<F<5=F>6, 6E>4OM<E 6 D>D<G?G, 5E?< >=< =5 ?>OE=5=O D4=55 6 F5>EF5, 
4>?6=O 5OFL ?D<6545=O =5?>ED54EF65==> ?>4 D>D<G?>= < 4>?6=O E>>F65FEF6>64FL F<?G < D47-
<5DG LD<DF4, ?D<=OF><G ?D< =4?<E4=<< E4<>= D>D<G?O. �>OE=5=<O >464>7> E<<6>?4 E?54G5F 44-
64FL E =>6>= EFD>>< 6 F>= ?>E?54>64F5?L=>EF<, 6 >>F>D>= E<<6>?O ?D<6545=O 6 D>D<G?5.  

4.7 �5D64O EFD>>4 ?>OE=5=<O 4>?6=4 =4G<=4FLEO E 4574F=>7> >FEFG?4 E> E?>64 «745» 557 
46>5F>G<O ?>E?5 =57>. �=4>< «3» (F<D5) D4E?>?474NFEO =4 >4=>= 65DF<>4?L=>= ?<=<<.  

�D<<5D 3 �?>F=>EFL >464>7> >5D47F4 Ã, >7/< 3, 6OG<E?ONF ?> D>D<G?5 (1) 

 
745 m 3 <4EE4 >5D47F4, >7;  
       ¿ 3 >5NU< >5D47F4, < 3. 
4.8�=4>< ?D5?<=4=<O ?5D54 D>D<G?>= < ?>E?5 =55 EF46OFEO ?> E<OE?G. $>D<G?O, E?54GN-

M<5 >4=4 74 4DG7>= < =5 D4745?5==O5 F5>EF><, D4745?ONF 74?OF>=. 
4.9 �E?< D>D<G?4 =5 ?><5M45FEO 6 EFD>>G, F> G4EFL 55 ?5D5=>EOF =4 4DG7GN EFD>>G F>?L>> 

=4 <4F5<4F<G5E>>< 7=4>5 >E=>6=>= EFD>><, >5O74F5?L=> ?>6F>DOO 7=4> 6> 6F>D>= EFD>>5. �D< ?5-
D5=>E5 D>D<G?O =4 7=4>5 G<=>65=<O ?D<<5=ONF 7=4> «×». �D< =4?<E4=<< D>D<G? =5 4>?GE>4NFEO 
D47DO6=O5 ?<=<<. � <=>7>EFD>G=>= D>D<G?5 =><5D D>D<G?O EF46<FEO ?D>F<6 ?>E?54=5= EFD>><. 

 
5 ���.%&$�&�� 
 
5.1 �E5 <??NEFD4F<< 6 F5>EF5 D45>FO (7D4D<><, G5DF56<, EE5<O, >><?LNF5D=O5 D4E?5G4F><, 

4<47D4<<O, D>F>E=<<><) D47<5M4NF ED47G ?>E?5 ?5D6>= EEO?>< =4 =<E < >5>7=4G4NF E?>6>< «$<-
EG=>>». 

5.2 �??NEFD4F<<, 74 <E>?NG5=<5< <??NEFD4F<= ?D<?>65=<=, E?54G5F =G<5D>64FL 4D45-
E><<< F<DD4<< E>6>7=>= =G<5D4F<5=. �E?< D<EG=>> >4<=, F> >= >5>7=4G45FEO «$<EG=>> 1». 

5.3 �??NEFD4F<< 4>?6=O <<5FL =4<<5=>64=<5 < ?D< =5>5E>4<<>EF< 3 ?>OE=<F5?L=O5 44=-
=O5 (?>4D<EG=>G=O= F5>EF). �E?< F5>EF ?>OE=<F5?L=OE 44==OE ?D<6>4<FEO =44 =><5D>< D<EG=>4, 
F> 4>?GE>45FEO ?>=<65=<5 LD<DF4 (>57?L 12). �>OE=5=<O, ?D<6>4<<O5 6 F5>EF5, 6O?>?=ONFEO 
>5OG=O< LD<DF>< (>57?L 14). 

�>E?5 =><5D4 D<EG=>4 EF46<FEO F<D5, =4<<5=>64=<5 ?<L5FEO E ?D>?<E=>= 5G>6O. %?>6> 
«$<EG=>>» < =4<<5=>64=<5 ?><5M4NF ?>E?5 ?>OE=<F5?L=OE 44==OE < D4E?>?474NF ?>E5D54<=5 
EFD>><.  

 
1 3 6E?><>74F5?L=4O ?G?4; 2 3 >>G?OD >>??<<4F>D4; 3 3 6E>4=>= 7D4G>> 

>5N5>F<64 F5>4>?<F4; 4 3 >?D464 >5N5>F<64 F5>4>?<F4; 5 3 6OE>4=>= 7D4G>> 
>5N5>F<64 >>??<<4F>D4; 6 3 >5M55 ?>?5 7D5=<O >>G?OD4 >>??<<4F>D4 

$<EG=>> 1 3 'EF4=>6>4 F5>4>?<F4 E>>E=> E >>??<<4F>D><<?< E 46F>>>??<<4F>D>< 

,  
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5.4 �??NEFD4F<< >464>7> ?D<?>65=<O >5>7=4G4NF >F45?L=>= =G<5D4F<5= 4D45E><<< F<D-
D4<< E 4>546?5=<5< ?5D54 F<DD>= >5>7=4G5=<O ?D<?>65=<O. �4?D<<5D, $<EG=>> �.3. 

�>?GE>45FEO =G<5D>64FL <??NEFD4F<< 6 ?D545?4E D4745?4. � MF>< E?GG45 =><5D <??NEFD4-
F<< E>EF><F <7 =><5D4 D4745?4 < ?>DO4>>6>7> =><5D4 <??NEFD4F<<, D4745?5==OE F>G>>=. �4?D<-
<5D - $<EG=>> 1.1. 

5.5 �D< EEO?>4E =4 <??NEFD4F<< E?54G5F ?<E4FL «&6 E>>F65FEF6<< E D<EG=>>< 2». 
 
6 &����&/ 
 
6.1 &45?<FO ?D<<5=ONF 4?O ?GGL5= =47?O4=>EF< < G4>5EF64 ED46=5=<O ?>>474F5?5=. &45-

?<FG E?564, E?D464 < E=<7G >7D4=<G<64NF ?<=<O<<. 
6.2 $4745?OFL 747>?>6>< < ?>4747>?>6>< 5>>>6<>4 < 7D4D ?G=>F<D=O<< < 4<47>=4?L=O<< 

?<=<O<< =5 4>?GE>45FEO. 
 
&45?<F4 _____3 _________________________ 
          =><5D       =4<<5=>64=<5 F45?<FO 
 
 
 
 
 
 
 
6.3 �4<<5=>64=<5 F45?<FO, ?D< 57> =4?<G<<, 4>?6=> >FD464FL 5U E>45D64=<5, 5OFL F>G-

=O<, >D4F><<. �4<<5=>64=<5 F45?<FO E?54G5F ?><5M4FL =44 F45?<F5= E?564, 6 >4=G EFD>>G E 5U 
=><5D>< G5D57 F<D5: «&45?<F4 1 3 �4<<5=>64=<5», ?D< MF>< F>G>G ?>E?5 =><5D4 F45?<FO < =4<<5-
=>64=<O =5 EF46OF. 

6.5 �4644O F45?<F4 4>?6=4 <<5FL ?>DO4>>6O= =><5D 6 ?D545?4E 6E5= D45>FO. 
6.6 &45?<FG E 5>?LL<< G<E?>< EFD>> 4>?GE>45FEO ?5D5=>E<FL =4 4DG7>= ?<EF. �D< ?5D5=>E5 

G4EF< F45?<FO =4 4DG7GN EFD4=<FG E?>6> «&45?<F4», 5U =><5D < =4<<5=>64=<5 G>47O64NF >4<= 
D47 E?564 =44 ?5D6>= G4EFLN F45?<FO, 4 =44 4DG7<<< G4EFO<< ?<LGF E?>64 «�D>4>?65=<5 F45?<FO 
1». �D< ?5D5=>E5 F45?<FO =4 4DG7>= ?<EF 747>?>6>> =5 ?>6F>DONF. 

6.7 &45?<FG E 5>?LL<< >>?<G5EF6>< 7D4D 4>?GE>45FEO 45?<FL =4 G4EF< < ?><5M4FL >4=G 
G4EFL ?>4 4DG7>= 6 ?D545?4E >4=>= EFD4=<FO. 

8 �E?< EFD>>< < 7D4DO F45?<FO 6OE>4OF 74 D>D<4F EFD4=<FO, F> 6 ?5D6>< E?GG45 6 >464>= 
G4EF< F45?<FO ?>6F>DO5FEO 7>?>6>4, 6> 6F>D>< E?GG45 3 5>>>6<>.  

6.9 �D< 45?5=<< F45?<FO =4 G4EF< 4>?GE>45FEO 5U 7>?>6>G <?< 5>>>6<> 74<5=OFL E>>F65F-
EF65==> =><5D>< 7D4D < EFD>>. �D< MF>< =G<5DGNF 4D45E><<< F<DD4<< 7D4DO < (<?<) EFD>>< ?5D-
6>= G4EF< F45?<FO.  

&45?<F4 1 3 %>?>EF46?5=<5 >>MDD<F<5=F>6 7=4G<<>EF< DG=>F<= < <E EF><<>EF< 
$4=7 DG=>F<< �=4G<<>EFL, % '45?L=O= 65E 74FD4F =4 

DG=>F<N 6 >5M<E 74FD4-
F4E, % 

�>MDD<F<5=F 
74FD4F =4 DG=>F<N 

1 2 3 4 
4 15 25 0,6 
8 10 15 0,6 

     �D>4>?65=<5 F45?<FO 1 
1 2 3 4 
5 5 16 0,31 
7 9 24 0,37 
        �D<<5G4=<5 - &5>EF ------------------------------------------. 
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�4 6E5 F45?<FO 6 F5>EF5 4>?6=4 5OFL EEO?>4. �D< EEO?>5 E?54G5F ?<E4FL E?>6> «F45?<F4» 
E G>474=<5< 5U =><5D4, =4?D<<5D, «6 F45?<F5 1&..».  

6.10 �?O >5?57G5=<O EEO?>> ?> F5>EFG 6 F45?<F4E 4>?GE>45FEO =G<5D4F<O 7D4D. 
6.11 &45?<FO >464>7> ?D<?>65=<O >5>7=4G4NF >F45?L=>= =G<5D4F<5= 4D45E><<< F<DD4<<, 

=4?D<<5D, «&45?<F4 �.1» (E 4>546?5=<5< ?5D54 F<DD>= >5>7=4G5=<O ?D<?>65=<O).  
6.12 �E?< 6 4>>G<5=F5 >4=4 F45?<F4, F> >=4 4>?6=4 5OFL >5>7=4G5=4 «&45?<F4 1» <?< «&45-

?<F4 �.1», 5E?< >=4 ?D<6545=4 6 ?D<?>65=<< �. 
6.13 &45?<F4 ?><5M45FEO ?>E?5 ?5D6>7> G?><<=4=<O > =5= 6 F5>EF5. �>?GE>45FEO D47<5M4FL 

F45?<FG 64>?L 4?<==>= EF>D>=O ?<EF4 (?U64), F4> GF>5O 5U <>6=> 5O?> G<F4FL E ?>6>D>F>< ?> 
G4E>6>= EFD5?>5, ?D< MF>< =><5D EFD4=<FO EF46<FEO 6 =<6=5= E5D54<=5 >>D>F>>= G4EF< ?<EF4. 

6.14 �D4D4 7 ?/? 6 F45?<FO =5 6>?NG45FEO.  
6.16 �>?GE>45FEO ?D<<5=OFL 6 F45?<F5 D47<5D LD<DF4 <5=LL<=, G5< 6 F5>EF5 (>57?L 12). 

�>D<7>=F4?L=O5 < 65DF<>4?L=O5 ?<=<<, D477D4=<G<64NM<5 EFD>>< F45?<FO, 4>?GE>45FEO =5 ?D>-
6>4<FL, 5E?< <E >FEGFEF6<5 =5 74FDG4=O5F ?>?L7>64=<5 F45?<F5=.  

 
7 �$�������/ 
 
�4F5D<4?, 4>?>?=ONM<= F5>EF D45>FO, 4>?GE>45FEO ?><5M4FL 6 ?D<?>65=<OE. �D<?>65=<-

O<< <>7GF 5OFL, =4?D<<5D, 7D4D<G5E><= <4F5D<4?, F45?<FO 5>?LL>7> D>D<4F4, D4EG5FO, >?<E4=<O 
4??4D4FGDO < ?D<5>D>6, >?<E4=<O 4?7>D<F<>6 < ?D>7D4<< 7444G, D5L45<OE =4 �� < F.4. 

�D<?>65=<5 >D>D<?ONF >4> ?D>4>?65=<5 D45>FO =4 ?>E?54GNM<E 57> ?<EF4E <?< 6O?GE-
>4NF 6 6<45 E4<>EF>OF5?L=>7> 4>>G<5=F4. 

� F5>EF5 4>>G<5=F4 =4 6E5 ?D<?>65=<O 4>?6=O 5OFL 44=O EEO?><. %F5?5=L >5O74F5?L=>EF< 
?D<?>65=<= ?D< EEO?>4E =5 G>47O645FEO. �D<?>65=<O D4E?>?474NF 6 ?>DO4>5 EEO?>> =4 =<E 6 
F5>EF5 4>>G<5=F4. 

�464>5 ?D<?>65=<5 E?54G5F =4G<=4FL E =>6>= EFD4=<FO E G>474=<5< =465DEG ?>E5D54<=5 
EFD4=<FO E?>64 "�$��������". 

�D<?>65=<5 4>?6=> <<5FL 747>?>6>>, >>F>DO= 74?<EO64NF E<<<5FD<G=> >F=>E<F5?L=> 
F5>EF4 E ?D>?<E=>= 5G>6O >F45?L=>= EFD>>>=. 

�D<?>65=<O >5>7=4G4NF 747?46=O<< 5G>64<< DGEE>>7> 4?D46<F4, =4G<=4O E �, 74 <E>?NG5-
=<5< 5G>6 �, 3, �, �, ', ,, /, .. �>E?5 E?>64 "�$��������" E?54G5F 5G>64, >5>7=4G4NM4O 57> 
?>E?54>64F5?L=>EFL. �>?GE>45FEO >5>7=4G5=<5 ?D<?>65=<= 5G>64<< ?4F<=E>>7> 4?D46<F4, 74 <E-
>?NG5=<5< 5G>6 I < �. 

� E?GG45 ?>?=>7> <E?>?L7>64=<O 5G>6 DGEE>>7> < ?4F<=E>>7> 4?D46<F>6 4>?GE>45FEO >5>-
7=4G4FL ?D<?>65=<O 4D45E><<< F<DD4<<. 

�E?< 6 4>>G<5=F5 >4=> ?D<?>65=<5, >=> >5>7=4G45FEO "�$�������� �". 
�D<?>65=<O 4>?6=O <<5FL >5MGN E >EF4?L=>= G4EFLN 4>>G<5=F4 E>6>7=GN =G<5D4F<N 

EFD4=<F. �E5 ?D<?>65=<O 4>?6=O 5OFL ?5D5G<E?5=O 6 E>45D64=<< 4>>G<5=F4 (?D< =4?<G<<) E 
G>474=<5< <E =><5D>6 < 747>?>6>>6. 
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�$�������� � 
 

� & � / � 

 

=4 4<??><=O= ?D>5>F(D45>FG) EFG45=F4              ����' %� «�&&��%»  0 
__________________________________________________________________ 
(D4<<?<O, <<O, >FG5EF6> EFG45=F4) 
?> E?5F<4?L=>EF<___________________________________________________ 
7DG??O____________ =4 F5<G_________________________________________ 
_________________________________________________________________ 
�>?<G5EF6> EFD4=<F 6 4<??><=>< ?D>5>F5______________________ >>?<G5EF6> ?<EF>6 7D4D<G5-
E>>= G4EF< _________________________________ 
�D4F><= ?5D5G5=L >E=>6=OE 6>?D>E>6, <7?>65==OE 6 4<??><=>< ?D>5>F5 
___________________________________________________________________________________
___________________________________________________________________________________
_____________________________ 
�>?=>F4 D4E>DOF<O F5<O ____________________________________________ 
_________________________________________________________________ 
�>FG4?L=>EFL < D54?L=>EFL (?D4>F<G5E>4O 7=4G<<>EFL) 4?O ?D><OL?5==>EF< (D5>><5=4>64= 4?O 
6=54D5=<O, 6=54D5= 6 ?D><76>4EF6>, <E?>?L7GNFEO <4F5D<4?O ?D>5>F4, <77>F>6?5= <4>5F < 
F.4.).__________________________________________________________________________ 
________________________________________________________________________________ 
 
�E=>6=O5 4>EF><=EF64 < =54>EF4F>< ?D>5>F4_____________________________ _________ 
 
________________________________________________________________________________ 
%F5?5=L E4<>EF>OF5?L=>EF<, <=<F<4F<6O, 45?>6OE, >><<G=<>4F<6=OE >4G5EF6 EFG45=F4 
________________________________________________________________________________ 
________________________________________________________________________________ 
�E6>5==O5 >><?5F5=F<< __________________________________________________________ 
___________________________________________________________________________________
_____________________________________________________________________________ 
%4D4>F5D<EF<>4 ?D>6545==>= EFG45=F>< M>E?5D<<5=F4?L=>= D45>FO ?> <77>F>6?5=<N <4>5F4 <?< 
?D>6545==OE <E?OF4=<=_______________________________________________________ 
________________________________________________________________________________ 
�4G5EF6> 6O?>?=5=<O D45>FO < 7D4D<G5E>>= G4EF< ____________________________________ 
________________________________________________________________________________ 
�5M55 74>?NG5=<5 > 6O?>?=5=<< 4<??><=>7> ?D>5>F4 E >F5=>>= 
________________________________________________________________________________ 
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
_____________________________________________________ 
�O?>?=5=<5 ?D>5>F4 74E?G6<645F ______________________________ >F5=><. 
�5EF> D45>FO < 4>?6=>EFL DG>>6>4<F5?O ?D>5>F4 _______________________ 
_________________________________________________________________ 
$4<<?<O, <<O, >FG5EF6> DG>>6>4<F5?O ?D>5>F4 __________________________ 
 
«____» _______________ 20___ 7.   �>4?<EL __________________ 
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$�&����/ 

 

=4 4<??><=O= ?D>5>F EFG45=F4         ����' %� «�&&��%»   0 
_________________________________________ 
(D4<<?<O, <<O, >FG5EF6> EFG45=F4) 
?> E?5F<4?L=>EF<___________________________________________________ 
7DG??O____________ =4 F5<G_________________________________________ 
__________________________________________________________________ 
�>?<G5EF6> EFD4=<F 6 4<??><=>< ?D>5>F5______________________  
>>?<G5EF6> ?<EF>6 7D4D<G5E>>= G4EF< _________________________________ 
%>>F65FEF6<5 E>45D64=<O D45>FO F5<5 4<??><=>7> ?D>5>F4, ?>?=>F4 D4E>DO-
F<O________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
_______________________________________________________________________ 
�>FG4?L=>EFL < 7=4G<<>EFL D45>FO 4?O ?D><OL?5==>EF< 
___________________________________________________________________________________
___________________________________________________________________________________
________________________________ 
�F5=>4 >E=>6=OE D57G?LF4F>6 D45>FO (<45<, >D<7<=4?L=O5 D5L5=<O) 
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
_______________________________________________________________________ 
�D4>F<G5E>4O 7=4G<<>EFL _________________________________________________________  
___________________________________________________________________________________
_____________________________________________________________________________ 
�=4?<7 >5>E=>64==>EF< 6O6>4>6 < ?D54?>65=<= ______________________________________ 
___________________________________________________________________________________
___________________________________________________________________________________
________________________________ 
�>EF><=EF64 < =54>EF4F>< ?D>5>F4 ?> E>45D64=<N, <7?>65=<N, >D>D<?5=<N 
___________________________________________________________________________________
_____________________________________________________________________________ 
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$��������&�� �� %�%&������. ����,.&�$��� 

 �$����&�&�� ���������� �$���&� ($���&/) % ����-,. ����&� 
MICROSOFT POWERPOINT 

 
�><?LNF5D=4O ?D575=F4F<O (��) 445F DO4 ?D5<<GM5EF6 ?5D54 >5OG=>=, 5G<46=>-??4>4F-

=>=. �=4 ?>76>?O5F <E?>?L7>64FL 55 >4> ?574?L=GN L?4D74?>G, 4 E 4DG7>= EF>D>=O, ?>76>?O5F 
G?5=G �>EG44DEF65==>= 4FF5EF4F<>==>= >><<EE<< >4=>6D5<5==> <7GG4FL ?<EL<5==GN 6O?GE>=GN 
>64?<D<>4F<>==GN D45>FG < >>=FD>?<D>64FL 6OEFG??5=<5 >5GG4NM57>EO. �>MF><G 65?4F5?L=> 
E>?D>6>644FL 6OEFG??5=<5 ?D575=F4F<5= E <E?>?L7>64=<5< 15420 E?4=4>6 (F45?<F4 1). 

�E=>6=O<< ?D<=F<?4<< ?D< E>EF46?5=<< ?>4>5=>= ?D575=F4F<< O6?ONFEO ?4>>=<G=>EFL, 
OE=>EFL, G<5EF=>EFL, E45D64==>EFL, =47?O4=>EFL (?>4G5D><64=<5 >?NG56OE <><5=F>6), 74?><<=4-
5<>EFL (D47G<=>5 <E?>?L7>64=<5 OD><E MDD5>F>6). 

�5>5E>4<<> =4G4FL �� E 747>?>6>G=>7> E?4=44 < 7465DL<FL <F>7>6O<. � 747>?>6>5 ?D<6>-
4<FEO =4764=<5 < 46F>D. %>65FG5< ?D<4G<4FL >D4F>>5 =4764=<5 < ?><5EF<FL 57> =4 6E5 E?4=4O (�<4 
4 �>?>=F<FG? 4 �D<<5=<FL >> 6E5<). %45?4=F5 F4>65 =G<5D4F<N E?4=4>6 < =4?<L<F5, E>>?L>> 
6E57> <E 6 ?D575=F4F<<. � <F>7>6>< E?4=45 4>?6=> =4=F<EL <5EF> 4?O 5?47>44D=>EF< DG>>6>4<-
F5?N < 6E5< F5<, >F> 44? F5==O5 >>=EG?LF4F<< < D5>><5=44F<<. 

�E=>6=>5 FD55>64=<5 4 >464O= E?4=4 4>?65= <<5FL 747>?>6>>, >>?<G5EF6> E?>6 6 E?4=45 
=5 4>?6=> ?D56OL4FL 40. 

�E?>?L7G=F5 L45?>=O 4?O ?>47>F>6>< ?D>D5EE<>=4?L=>= ��. �D< D47D45>F>5 >D>D<?5=<O 
<E?>?L7G=F5 4<74== L45?>=>6 ($>D<4F 4 �D<<5=<FL >D>D<?5=<5). �5 G6?5>4=F5EL OD><<< L45-
?>=4<<, <=D>D<4F<O =4 E?4=45 4>?6=4 5OFL >>=FD4EF=4 D>=G, 4 D>= =5 4>?65= 74F5=OFL E>45D6<-
<>5 E?4=44, 5E?< OD>>EFL ?D>5F<DGNM57> >5>DG4>64=<O 5G45F =5 4>EF4F>G=O<. �>455D<F5 464-FD< 
D47?<G=OE D>=>6OE >D>D<?5=<O 4?O F>7>, GF>5O <<5FL 6>7<>6=>EFL 64DL<D>64FL D>= ?D< ??>E>= 
?D>5>F<<. 

�5 7?>G?>FD55?O=F5 MDD5>F4<< 4=<<4F<<. �?F<<4?L=>= =4EFD>=>>= MDD5>F>6 4=<<4F<< 
O6?O5FEO ?>O6?5=<5 6 ?5D6GN >G5D54L 747>?>6>4 E?4=44, 4 74F5< 4 F5>EF4 ?> 4574F4<. �D< MF><, 
5E?< =5E>>?L>> E?4=4>6 <<5NF >4<=4>>6>5 =4764=<5, F> 747>?>6>> E?4=44 4>?65= ?>EF>O==> >EF4-
64FLEO =4 M>D4=5. �<=4<<G5E>4O 4=<<4F<O MDD5>F<6=4 F>744, >>744 6 ?D>F5EE5 6OEFG??5=<O ?D>-
<EE>4<F ?>7<G5E>4O FD4=ED>D<4F<O EGM5EF6GNM5= EFDG>FGDO 6 =>6GN EFDG>FGDG, ?D54?4745<GN 
64<<.  

�4EFD>=F5 6D5<5==>= D56<< 64L5= ?D575=F4F<<, <E?>?L7GO <5=N �>>47 E?4=4>6 4 $56<< 
=4EFD>=>< 6D5<5=<, ?D5464D<F5?L=> G7=46, E>>?L>> <<=GF FD55G5FEO 64< =4 >464O= E?4=4. �G5=L 
646=> =5 F>D>?<FLEO =4 4>>?445 < =5 "<O<?<FL" E?>64. �D575=F4F<O ?57>> ?><>65F 64< ?D>65EF< 
4>>?44, => >=4 =5 4>?6=4 57> 74<5=<FL. �E?< 6O F>?L>> G<F45F5 F5>EF E?4=4>6, F> MF> E<7=4? >>-
<<EE<<, GF> 6O =5 >D<5=F<DG5F5EL 6 E>45D64=<<. �> 5E?< 6O D4EF5DO?<EL <?< =5 <>65F5 ?D>7?>-
F<FL >><>> 6 7>D?5, F> ?D>GF5=<5 ?D575=F4F<< 5G45F 54<=EF65==O< 64L<< E?4E5=<5<. �5?4F5?L=> 
?>47>F>6<FL > >464><G E?4=4G 74<5F>< ?> 4>>?44G (�<4 4 EFD4=<FO 74<5F>>). $4E?5G4F4=F5 <E 
(�5G4FL 4 ?5G4F4FL 74<5F><) < <E?>?L7G=F5 ?D< ?>47>F>6>5 < 6 >D4==5< E?GG45 =4 E4<>= ?D575=-
F4F<<. $4E?5G4F4=F5 =5>>F>DO5 >?NG56O5 E?4=4O 6 >4G5EF65 D4744F>G=>7> <4F5D<4?4. 

�E?>?L7G=F5 <=F5D4>F<6=O5 M?5<5=FO. �?O G?D46?5=<O E6>5= �� <E?>?L7G=F5 <=F5D4>F<6-
=O5 >=>?>< (6?5D54-=4744) <?<, 6 >D4==5< E?GG45, >?46<4FGDG PgUp-PgDn. �E>55==> MF> <>65F 
?D<7>4<FLEO ?D< >F65F5 =4 6>?D>EO, >>744 64E ?>?D>EOF 65D=GFLEO > >?D545?5==><G E?4=4G. � 46-
F><4F<G5E>>< D56<<5 >5O74F5?L=> ?D>>>=FD>?<DG=F5 6D5<5==>= <=F5D64? E6>57> 4>>?444. 
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&45?<F4 1 - �D4F><5 FD55>64=<O > >D>D<?5=<N ?D575=F4F<= 
 

�D>D<?5=<5 E?4=4>6 
%F<?L 1. %>5?N44=F5 54<=O= EF<?L >D>D<?5=<O  

2. �75574=F5 EF<?5=, >>F>DO5 5G4GF >F6?5>4FL >F E4<>= ?D575=F4F<<  
3. �E?><>74F5?L=4O <=D>D<4F<O (G?D46?ONM<5 >=>?><) =5 4>?6=O 
?D5>5?444FL =44 >E=>6=>= <=D>D<4F<5= (F5>EF, D<EG=>>)  

$>=  1. �?O D>=4 6O5<D4=F5 5>?55 E>?>4=O5 F>=4 (E<=<= <?< 75?5=O=)  
�E?>?L7>64=<5 

F65F4 
1. �4 >4=>< E?4=45 D5>><5=4G5FEO <E?>?L7>64FL =5 5>?55 FD5E F65-
F>6: >4<= 4?O D>=4, >4<= 4?O 747>?>6>>6, >4<= 4?O F5>EF4  
2. �?O D>=4 < F5>EF4 E?4=44 6O5<D4=F5 >>=FD4EF=O5 F65F4  

�=<<4F<>==O5 
MDD5>FO 

1. �E?>?L7G=F5 6>7<>6=>EF< >><?LNF5D=>= 4=<<4F<< 4?O ?D54EF46-
?5=<O <=D>D<4F<< =4 E?4=45  
2. �5 EF><F 7?>G?>FD55?OFL D47?<G=O<< 4=<<4F<>==O<< MDD5>F4<<, 
>=< =5 4>?6=O >F6?5>4FL 6=<<4=<5 >F E>45D64=<O =4 E?4=45  

�D54EF46?5=<5 <=D>D<4F<<  

%>45D64=<5 <=-
D>D<4F<< 

1. �E?>?L7G=F5 >>D>F><5 E?>64 < ?D54?>65=<O  
2. �<=<<<7<DG=F5 >>?<G5EF6> ?D54?>7>6, =4D5G<=, ?D<?474F5?L=OE  
3. �47>?>6>< 4>?6=O ?D<6?5>4FL 6=<<4=<5 4G4<F>D<<  

$4E?>?>65=<5 <=-
D>D<4F<< =4 EFD4-

=<F5  

1. �D54?>GF<F5?L=> 7>D<7>=F4?L=>5 D4E?>?>65=<5 <=D>D<4F<<  
2. �4<5>?55 646=4O <=D>D<4F<O 4>?6=4 D4E?>?474FLEO 6 F5=FD5 
M>D4=4  
3. �E?< =4 E?4=45 >4DF<=>4, =44?<EL 4>?6=4 D4E?>?474FLEO ?>4 =5=  

,D<DFO 1. �?O 747>?>6>>6 - =5 <5=55 24  
2. �?O <=D>D<4F<< - =5 <5=55 18  
3. ,D<DFO 557 74E5G5> ?57G5 G<F4FL E 5>?LL>7> D4EEF>O=<O  
4. �5?L7O E<5L<64FL D47?<G=O5 F<?O LD<DF>6 6 >4=>= ?D575=F4F<<  
5. �?O 6O45?5=<O <=D>D<4F<< E?54G5F <E?>?L7>64FL 6<D=O= LD<DF, 
>GDE<6 <?< ?>4G5D><64=<5  

%?>E>5O 6O45?5-
=<O <=D>D<4F<< 

1. $4<><, 7D4=<FO, 74?<6><  
2. $47=O5 F65F4 LD<DF>6, LFD<E>6>G, 74?<6>G  
3. $<EG=><, 4<47D4<<O, EE5<O 4?O <??NEFD4F<< =4<5>?55 646=OE 
D4>F>6  
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�D<F5D<< >F5=>< 6O?>?=5=<O < 74M<FO 4<??><=>7> ?D>5>F4 EFG45=F>6  
E?5F<4?L=>EFL �5E4FD>=<>4 < <>5<?L=4O D>5>F>F5E=<>4 (?> >FD4E?O<) 

�F5=>4 �4D4<5FDO >F5=<64=<O: 7=4=<O, G<5=<O 
«5» 1. �<??><=O= ?D>5>F (D45>F4) =>E<F ?D>5?5<=O= E4D4>F5D. 

2. �<??><=O= ?D>5>F (D45>F4) E6<45F5?LEF6G5F >5 GE6>5==OE 7=4=<OE >5M5?D>D5E-
E<>=4?L=OE 4<EF<??<=, ?D>D5EE<>=4?L=OE <>4G?5= 6 ?>?=>< >5NU<5. 
3. �D>6>4<F 4=4?<7 ?D4>F<G5E>>7> >?OF4 =4 ?D><76>4EF65 ?> ?D>5?5<5, >?D545?5=-
=>= F5<>= D45>FO. 
4. �D54?4745F >?F<<4?L=O= 6O5>D >5>DG4>64=<O, E?>E>5O < ED54EF64 G?D46?5=<O 6 
E>>F65FEF6<< E 7444==O<< FD55>64=<O<< <5E4FD>==OE E<EF5< 4?O E>6D5<5==>7> ?D>-
<76>4EF64. 
5. �D>5>F<DG5F F5E=>?>7<G5E><5 ?D>F5EEO <>=F464 < ?D>7D4<<<D>64=<O <5E4FD>=-
=OE E<EF5< 6 E>>F65FEF6<< E 7444==O<< E6>=EF64<<. 
6. $4EEG<FO645F >E=>6=O5 F5E=<G5E><5 ?>>474F5?< 6 E>>F65FEF6<< E ?D>5>F<DG5<>= 
<5E4FD>==>= E<EF5<>=. 
7. �<??><=O= ?D>5>F (D45>F4) 45<>=EFD<DG5F ?>=<<4=<5 7=4G<<>EF< E?5F<4?L=>EF< 
4?O D476<F<O >>D?>D4F<< (?D54?D<OF<O), D57<>=4, G<5=<O D5L4FL ?D>5?5<O, ??4=<D>-
64FL < >D74=<7>6O64FL E>5EF65==GN 45OF5?L=>EFL 6 E>>F65FEF6<< E FD55>64=<O<< 557-
>?4E=>EF< < >ED4=O FDG44, G<5=<O 4=4?<7<D>64FL ?D>D5EE<>=4?L=GN E<FG4F<N, G<5-
=<O 65EF< ?><E> <=D>D<4F<<, G<5=<O >D<5=F<D>64FLEO 6 GE?>6<OE =>6OE F5E=>?>7<=, 
>EGM5EF6?OFL 45OF5?L=>EFL ?> <>45D=<74F<< >5>DG4>64=<O, F5E=>?>7<=. 
8. �D< 74M<F5 EFG45=F 45<>=EFD<DG5F G<5=<O ?D575=F>64FL ��$, <7?474FL <=D>D<4-
F<N, 65EF< 4<4?>7, 45?4FL 6O6>4O. 
9. �D>D<?O5F >>=EFDG>F>DE>GN < F5E=>?>7<G5E>GN 4>>G<5=F4F<N 6 E>>F65FEF6<< E 
FD55>64=<O<< �%�� < �%&�, 4 F4>65 ?D54?D<OF<= < >D74=<74F<= 7>D>44 < >5?4EF<. 
10. �<55F ?>?>6<F5?L=O5 >F7O6O DG>>6>4<F5?O, D5F5=75=F4. 

«4» 1. �<??><=O= ?D>5>F (D45>F4) =>E<F ?D>5?5<=O= E4D4>F5D. 
2. �<??><=O= ?D>5>F (D45>F4) E6<45F5?LEF6G5F >5 GE6>5==OE 7=4=<OE >5M5?D>D5E-
E<>=4?L=OE 4<EF<??<=, ?D>D5EE<>=4?L=OE <>4G?5= 6 ?>?=>< >5NU<5. 
3. �D>6>4<F 4=4?<7 ?D4>F<G5E>>7> >?OF4 =4 ?D><76>4EF65 ?> ?D>5?5<5, >?D545?5=-
=>= F5<>= D45>FO. 
4. �O5>D >5>DG4>64=<O, E?>E>5>6 < ED54EF6 G?D46?5=<O 6 E>>F65FEF6<< E 7444=-
=O<< ?4D4<5FD4<< <5E4FD>==OE E<EF5< 4?O E>6D5<5==>7> ?D><76>4EF64 =54>EF4-
F>G=> >5>E=>64=. 
5. �D>5>F<DG5F F5E=>?>7<G5E><5 ?D>F5EEO <>=F464 < ?D>7D4<<<D>64=<O <5-
E4FD>==OE E<EF5< 6 E>>F65FEF6<< E 7444==O<< E6>=EF64<<. 
6. �O?>?=O5F 4=4?<7 F5E=<G5E><E ?>>474F5?5= ?D><76>4EF64, => ?>>474F5?< =54>-
EF4F>G=> MDD5>F<6=O <?< =5 E>>F65FEF6GNF FD55>64=<O< E>6D5<5==>7> ?D><76>4-
EF64. 
7. �<??><=O= ?D>5>F (D45>F4) 45<>=EFD<DG5F ?>=<<4=<5 7=4G<<>EF< E?5F<4?L=>-
EF< 4?O D476<F<O >>D?>D4F<< (?D54?D<OF<O), D57<>=4, G<5=<O D5L4FL ?D>5?5<O, ??4-
=<D>64FL < >D74=<7>6O64FL E>5EF65==GN 45OF5?L=>EFL, G<5=<O 4=4?<7<D>64FL ?D>-
D5EE<>=4?L=GN E<FG4F<N, G<5=<O 65EF< ?><E> <=D>D<4F<<, G<5=<O >D<5=F<D>-
64FLEO 6 GE?>6<OE =>6OE F5E=>?>7<=, >EGM5EF6?OFL 45OF5?L=>EFL ?> <>45D=<74F<< 
>5>DG4>64=<O, F5E=>?>7<=. 
8. �D< 74M<F5 EFG45=F 45<>=EFD<DG5F G<5=<O ?D575=F4F<<, <7?>65=<O <=D>D<4-
F<<, 65EF< 4<4?>7, 45?4FL 6O6>4O. 
9. �D>D<?O5F >>=EFDG>F>DE>GN < F5E=>?>7<G5E>GN 4>>G<5=F4F<N 6 E>>F65FEF6<< 
E FD55>64=<O<< �%�� < �%&�, 4 F4>65 ?D54?D<OF<= < >D74=<74F<= 7>D>44 < >5?4EF<. 
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10. �<55F ?>?>6<F5?L=O5 >F7O6O DG>>6>4<F5?O, D5F5=75=F4, <<5NFEO =57=4G<F5?L-
=O5 74<5G4=<O. 

«3» 1. �<??><=O= ?D>5>F (D45>F4) =>E<F G4EF<G=> ?D>5?5<=O= E4D4>F5D. 
2. �<??><=O= ?D>5>F (D45>F4) E6<45F5?LEF6G5F > ?>65DE=>EF=OE 7=4=<OE >5M5-

?D>D5EE<>=4?L=OE 4<EF<??<=, ?D>D5EE<>=4?L=OE <>4G?5=. 
3.   �D>6>4<F ?>65DE=>EF=O= 4=4?<7 ?D4>F<G5E>>7> >?OF4 =4 ?D><76>4EF65 ?> F5<5 

?D>5>F4 (D45>FO). 
4. �O5>D >5>DG4>64=<O, E?>E>5>6 < ED54EF6 G?D46?5=<O 6 E>>F65FEF6<< E 7444=-

=O<< ?4D4<5FD4<< <5E4FD>==OE E<EF5< 4?O E>6D5<5==>7> ?D><76>4EF64 =54>-
EF4F>G=> >5>E=>64=. 

5. �D>5>F<DG5F F5E=>?>7<G5E><5 ?D>F5EEO <>=F464 < ?D>7D4<<<D>64=<O <5-
E4FD>==OE E<EF5< E 7444==O<< E6>=EF64<< =5 6 ?>?=>< >5N5<5. 

6. �O?>?=O5F 4=4?<7 F5E=<G5E><E ?>>474F5?5= ?D><76>4EF64, => ?>>474F5?< =5 
?>4F65D644NF >5>E=>64==>EFL 6O5D4==OE <4F5D<4?>6 < F5E=>?>7<=. 

7. �<??><=O= ?D>5>F (D45>F4) 45<>=EFD<DG5F ?>=<<4=<5 7=4G<<>EF< E?5F<4?L=>-
EF< 4?O D476<F<O >>D?>D4F<< (?D54?D<OF<O), D57<>=4, G<5=<O D5L4FL ?D>5?5<O, 
??4=<D>64FL < >D74=<7>6O64FL E>5EF65==GN 45OF5?L=>EFL, G<5=<O 4=4?<7<D>-
64FL ?D>D5EE<>=4?L=GN E<FG4F<N, G<5=<O 65EF< ?><E> <=D>D<4F<<, G<5=<O 
>D<5=F<D>64FLEO 6 GE?>6<OE =>6OE F5E=>?>7<=, >EGM5EF6?OFL 45OF5?L=>EFL ?> 
<>45D=<74F<< >5>DG4>64=<O, F5E=>?>7<=, >D74=<74F<>==O5 G<5=<O =5 6 ?>?=>< 
>5N5<5. 

8. �D< 74M<F5 EFG45=F 45<>=EFD<DG5F G<5=<O ?D575=F4F<<, <7?>65=<O <=D>D<4-
F<<, 65EF< 4<4?>7, G<5=<5 45?4FL 6O6>4O. 

9. �D>D<?O5F >>=EFDG>F>DE>GN < F5E=>?>7<G5E>GN 4>>G<5=F4F<N 6 E>>F65FEF6<< 
E FD55>64=<O<< �%�� < �%&�, 4 F4>65 ?D54?D<OF<= < >D74=<74F<= 7>D>44 < 
>5?4EF<, => <<5NFEO =5EGM5EF65==O5 74<5G4=<O. 

10. %FG45=F =5 E?>E>55= E4<>EF>OF5?L=> >D74=<7>64FL E>5EF65==GN 45OF5?L=>EFL 
?> 6O?>?=5=<N 4<??><=>7> ?D>5>F4 (D45>FO). 

11. � >F7O64E DG>>6>4<F5?O < D5F5=75=F4 <<55FEO DO4 74<5G4=<= ?> 6O?>?=5==>= 
D45>F5. 

«2» 1. �<??><=O= ?D>5>F (D45>F4) =5 =>E<F ?D>5?5<=O= E4D4>F5D. 
2. �<??><=O= ?D>5>F (D45>F4) =5 E6<45F5?LEF6G5F >5 GE6>5==OE 7=4=<OE 6 ?>?=>< 

>5NU<5. 
3. �5 ?D>6>4<F 4=4?<7 ?D4>F<G5E>>7> >?OF4 =4 ?D><76>4EF65 ?> ?D>5?5<5, >?D545-

?5==>= F5<>= D45>FO. 
4. �5 ?D54?4745F >?F<<4?L=O= 6O5>D >5>DG4>64=<O, E?>E>5>6 < ED54EF6 G?D46?5-

=<O 6 E>>F65FEF6<< E 7444==O<< ?4D4<5FD4<< <5E4FD>==OE E<EF5< 4?O E>6D5-
<5==>7> ?D><76>4EF64. 

5. �5 6O?>?=O5F F5E=>?>7<G5E><= ?D>F5EE <>=F464 < ?D>7D4<<<D>64=<O <5-
E4FD>==OE E<EF5< E 7444==O<< E6>=EF64<<. 

6. �5 6O?>?=O5F 4=4?<7 F5E=<G5E><E ?>>474F5?5= ?D><76>4EF64. 
7. �D< 74M<F5 EFG45=F 74FDG4=O5FEO E >F65F4<<, =5 ?>=<<45F ?D54<5F >5EG645=<O. 
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